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TNPSC GROUP I – TEST BATCH 2022 

TEST XXI – PREMODEL I  
UNIT IV HISTORY & CULTURE OF INDIA, UNIT II CURRENT AFFAIRS, UNIT VII INDIAN NATIONAL MOVEMENT, UNIT VIII 

HISTORY, CULTURE, HERITAGE AND SOCIO-POLITICAL MOVEMENTS IN TAMILNADU, UNIT IX DEVELOPMENT 
ADMINISTRATION IN TAMILNADU AND APTITUDE AND MENTAL ABILITY 

 
1. The PM-FME Scheme, was implemented by 

a. Ministry of Agriculture 
b. Ministry of Food Processing Industries 
c. Ministry of Consumer affairs, Food and Public Distribution 
d. Ministry of Heavy Industries  
e. Answer not known 
PM-FME jpl;lj;ij eilKiwgLj;JtJ _______ 
a. Ntshz; mikr;rfk; 
b. czT gjg;gLj;Jk; njhopw;rhiyfs; mikr;rfk; 
c. Efh;Nthh; epfo;Tfs;> czT kw;Wk; nghJ tpepNahf mikr;rfk; 
d. fduf njhopw;rhiyfs; mikr;rfk; 
e. tpil njhpatpy;iy 

 
2. The MGNREGA wage rates are fixed according to changes in which Index? 

a. Consumer Price Index-Agriculture Labour (CPI-AL) 
b. Consumer Price Index-Industrial Workers (CPI-IW) 
c. Consumer Price Index-New Series (CPI-NS) 
d. Consumer Price Index-Rural Labourers (CPI-RL) 
e. Answer not known 
MGNREGA Cjpa tpfpjq;fs; ve;j FwpaPl;by; cs;s khw;wq;fspd;gb 
eph;zapf;fg;gLfpd;wd? 
a. Efh;Nthh; tpiyf; FwpaPL – Ntshz; $yp (CPI-AL) 
b. Efh;Nthh; tpiyf; FwpaPL – CPI-IW) 
c. Efh;Nthh; tpiyf; FwpaPL – Gjpa thpir (CPI-NS) 
d. Efh;Nthh; tpiyf; FwpaPL – Cuf $ypj;njhopyhsh;fs; (CPI-RL) 
e. tpil njhpatpy;iy 

 
3. What per cent of GST is levied for COVID vaccines in India? 

a. 5%  b. 10%  c. 18%  d. 28%  e. Answer not known 
,e;jpahtpy; Nfhtpl; jLg;g+rpfSf;F tpjpf;fg;gLk; GST thpr;rjtPjk; vd;d? 
a. 5%  b. 10%  c. 18%  d. 28%  e. tpil njhpatpy;iy 

 
4. The ‘Swavalamban Challenge Fund (SCF)’ was launched by 

a. NABARD  b. SIDBI c. SEBI d. RBI   e. Answer not known 
 ];thtyk;gd; rthy; epjpaj;ij Njhw;Wtpj;jJ _________ 

a. NABARD  b. SIDBI c. SEBI d. RBI   e. tpil njhpatpy;iy 
 
 
 



 

2 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

5. Which is the country’s first indigenous by developed aircraft carrier? 
a. INS Virat  b. INS Vikramaditya  c. INS Vikrant 
d. INS Vishal  e. Answer not known 

 ehl;bd; Kjy; cs;ehl;bNyNa jahhpf;fg;gl;l tpkhdk; jhq;fp fg;gy; vJ? 
 a. INS tpuhl;  b. INS tpf;ukhjpj;ah   c. INS tpf;uhe;j; 

d. INS tp~hy; e. tpil njhpatpy;iy 
 

6. Which of the following states announced the project Nilgiri Tahr? 
a. Karnataka   b. Kerala   c. Tamil Nadu 
d. Maharashtra  e. Answer not known 
ePyfphp tiuahL jpl;lj;ij mwptpj;Js;s khepyk; vJ? 
a. fh;ehlfk;   b. Nfush   c. jkpo;ehL 
d. kfhuh~;buk;  e. tpil njhpatpy;iy 
 

7. According to NSO Report 2021, which of the following state has the highest number of 
women entrepreneurs owned establishments? 
a. Kerala   b. Karnataka   c. Tamil Nadu 
d. Andhra Pradesh  e. Answer not known 
NSO mwpf;if 2021 ,d;gb> ve;j khepyk; mjpf vz;zpf;ifapyhd ngz; 
njhopy;KidNthUf;F nrhe;jkhd epWtdq;fis nfhz;Ls;sJ? 
a. Nfush   b. fh;ehlfk;   c. jkpo;ehL 
d. Me;jpugpuNjrk;  e. tpil njhpatpy;iy 
 

8. Which state has bagged the first rank among large states in the state food safety index 2021-
2022? 
a. Tamil Nadu  b. Kerala   c. Karanataka 
d. Gujarat   e. Answer not known 
khepy czT ghJfhg;G FwpaPL – 2021-22,d;gb nghpa khepyq;fspd; thpirapy; 
Kjyplj;jpy; cs;s khepyk; vJ? 
a. jkpo;ehL   b. Nfush   c. fh;ehlfk; 
d. F[uhj;   e. tpil njhpatpy;iy 
 

9. HomoSEP, a robot to clean septic tank was developed by 
a. IIT, Madras  b. Anna University   c. CSIR – CECRI 
d. IIT Kanpur  e. Answer not known 
fopTePh; njhl;bia Rj;jk; nra;a HomoSEP vdg;gLk; ve;jpuj;ij cUthf;fpaJ ________ 
a. IIT nkl;uh];  b. mz;zh gy;fiyf;fofk; c. CSIR – CECRI 
d. IIT fhd;g+h;   e. tpil njhpatpy;iy 
 

10. Choose the correct statements 
1. Jamtara become country’s first district with library in every village 
2. Chattisgarh has been ranked first among states with the lowest unemployment rate in 

the country 
a. 1 only   b. 2 only    c. both 1 and 2 
d. None of these  e. Answer not known 

 rhpahd $w;Wfis fz;lwpf 
1. khtl;lj;jpd; midj;J fpuhkq;fspYk; E}yfk; nfhz;l ehl;bd; Kjy; khtl;lk; [k;jhuh 

MFk;. 
2. ehl;by; Ntiyapd;ik tpfpjk; Fiwthf cs;s khepyq;fspy; rl;B];fh; Kjyplj;jpy; 

cs;sJ 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 
d. VJkpy;iy   e. tpil njhpatpy;iy 
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11. Which of the given following pairs is/are correctly matched?  
1. PM-KISAN - Central Sector Scheme 
2. Pradhan Mantri Kisan Maan Dhan Yojana – aims to provide an old-age pension to 

farmers 
3. PM Kisan Sampada Yojana – to promote blue revolution and livelihood of fishermen  
a. 1 and 2 only   b. 1, 3 only    c. 2, 3 only  
d. All of these  e. Answer not known 
rhpahd ,izfis fz;lwpf 
1. PM-KISAN – kj;jpa Jiwj;jpl;lk; 
2. gpujk ke;jphpapd; fp~hd; khd; jd; jpl;lk; - tptrhapfSf;fhd KjpNahh; Xa;t+jpak; 

toq;Ftij Nehf;fkhf nfhz;lJ. 
3. gpujk ke;jphpapd; rk;gjh jpl;lk; - ePyg;Gul;rp kw;Wk; kPdth;fspd; tho;thjhuj;ij 

Nkk;gLj;j 
a. 1 kw;Wk; 2 kl;Lk;  b. 1> 3 kl;Lk;   c. 2> 3 kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
12. Choose the correct statements regarding PM MITRA Park Scheme,  

1. The seven Mega Integrated Textile Region and Apparel (PM MITRA) parks will be set 
up at Greenfield or Brownfield sites located in different states.  

2. The Scheme shall be implemented on a pan-India basis and is intended for the holistic 
development of the Textile sector.  

a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
PM MITRA g+q;fh jpl;lk; gw;wpa rhpahd $w;Wfis Njh;T nra;f 
1. gy;NtW khepyq;fspy; mike;Js;s gRik (Green field) my;yJ gOg;Gj;jsq;fspy; 

(Brown field) VO nghpa xUq;fpize;j [Tsp gFjpfs; kw;Wk; Mil (PM kpj;uh) 
g+q;fhf;fs; mikf;fg;gLk;. 

2. ,j;jpl;lk; ,e;jpah KOtJk; nray;gLj;jg;gl;L> [Tspj;Jiwapy; KOikahd 
tsh;r;rpia Nehf;fkhf nfhz;Ls;sJ. 

a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

13. Choose the correct statements regarding e-Rupi Platform  
1. It is a person and purpose-specific digital payment solution.  
2. It is developed by the RBI.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. tpil njhpatpy;iy 
e-&gp jsk; Fwpj;j rhpahd $w;Wfis fz;lwpf 
1. ,J Fwpg;ghf jdpegh;fSf;fhd vz;k fl;lzj; jPh;thFk;. 
2. ,J RBI My; cUthf;fg;gl;lJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 

 
14. What are the possible reasons behind high Current Account Deficit?  

1. Surge in oil prices.  
2. Rise in commodities and fertilizers consumption.  
3. Low gold imports.  
Which of the following options is/are correct?  
a. 1 and 2 only   b. 2 only    c. 3 only  
d. 1, 2 and 3   e. Answer not known 
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elg;G fzf;F gw;whf;Fiwf;fhd fhuzq;fs; ahit? 
1. vz;nza; tpiy cah;T 
2. nghUl;fs; kw;Wk; cu Efh;T mjpfhpg;G 
3. Fiwthd jq;fk; ,wf;Fkjp 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kl;Lk;    c. 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
15. The Mekedatu water dispute is a cause of concern for which two states?  

a. Kerala and Tamil Nadu   b. Andhra Pradesh and Odisha  
c. Goa and Maharashtra   d. Karnataka and Tamin Nadu 
e. Answer not known 
NkfjhJ ePh; gpur;rid ve;j ,U khepyq;fSf;fpilNaahdJ? 
a. Nfush kw;Wk; jkpo;ehL  b. Me;jpu gpuNjrk; kw;Wk; xb~h 
c. Nfhth kw;Wk; kfhuh~;buk; d. fh;ehlfk; kw;Wk; jkpo;ehL 
e. tpil njhpatpy;iy 
 

16. Choose the correct statements about Rashtriya Gram Swaraj Abhiyan (RGSA),   
1. It is a Centrally Sponsored Scheme (CSS).  
2. It is proposed to develop the Panchayati Raj System across India in the rural areas.  
a. 1 only   b. 2 only   c. Both 1 and 2 
d. None of these  e. Answer not known 
uh~;l;hpa fpuhk ];tuh[; mgpahd; gw;wpa rhpahd $w;Wfis Njh;f 
1. ,J kj;jpa murpd; jpl;lkhFk;. 
2. ,J ,e;jpah KOtJk; fpuhkg;Gwq;fspy; cs;s gQ;rhaj;J uh[; mikg;Gfis Nkk;gLj;j 

Kd;nkhopag;gl;ljhFk;. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk; 
d. VJkpy;iy   e. tpil njhpatpy;iy   

 
17. Choose the correct statements with reference to the National Digital Health Mission 

(NDHM). 
1. Under this, every Indian citizen will have unique health IDs, digitised health records 

with identifiers for doctors and health facilities.  
2. The initiative is implemented by respective states under the National Health Mission.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
Njrpa vz;k ey jpl;lk; (NDHM) gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,jd;gb> xt;nthU ,e;jpa FbkfSf;Fk; jdpg;gl;l b[pl;ly; Rfhjhu milahs 

ml;ilfs;> kpd;kakhf;fg;gl;l Rfhjhu juTfSld; kUj;Jth;fis milahsq;fhz 
cjTfpwJ. 

2. Njrpa Rfhjhu ,af;fj;jpd; fPo; me;je;j khepyq;fshy; ,j;jpl;lk; nray;gLj;jg;gLfpwJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
 

18. SPARSH portal is related to  
a. Women Empowerment   b. Skill Development   c. Space Research  
d. Pension sanctioning  e. Answer not known 

 SPARSH ,izaj;jsk; vjDld; njhlh;GilaJ? 
 a. ngz;fs; Nkk;ghL   b. jpwd; Nkk;ghL   c. tpz;ntsp Muha;r;rp 
 d. Xa;t+jpa mDkjpj;jy;  e. tpil njhpatpy;iy 
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19. Choose the correct statements with reference to CSIR Aroma Mission 
1. It is related to the Pink Revolution.  
2. One of its aims is to enable effective buy-back mechanisms for the Lavender farmers.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 CSIR mNuhkh jpl;lk; gw;wpa rhpahd $w;Wfis Njh;f 
1. ,J ,sQ;rptg;G Gul;rpAld; njhlh;GilaJ 
2. ,jd; Nehf;fq;fspy; xd;W Rfe;jp g+f;fs; tptrhapfSf;F gaDs;s thq;Fjy; 

topKiwfis nray;gLj;JtjhFk;. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 

 
20. Who proposed the “Build Back Better World (B3W)” Initiative? 

a. World Bank   b. World Economic Forum   c. European Union  
d. G7    e. Answer not known 

 gpy;L Ngf; ngl;lh; Nth;y;l; (B3W) Kaw;rpia Kd;nkhope;j mikg;G vJ? 

 a. cyf tq;fp  b. cyf nghUshjhu kd;wk; c. INuhg;gpa a+dpad; 
 d. G7    e. tpil njhpatpy;iy 
 
21. Pink Bollworm is mainly related to which of the following crops?  

a. Wheat   b. Rice    c. Cotton  
d. Sugarcane  e. Answer not known 

 ,sQ;rptg;G fha;g;GO Fwpg;ghf ve;j gapUld; njhlh;GilaJ? 
 a. NfhJik  b. mhprp   c. gUj;jp 
 d. fUk;G  e. tpil njhpatpy;iy 
 

22. Choose the correct statements regarding Monkeypox:  
1. It is a viral zoonotic disease that occurs primarily in tropical rainforest areas of Central 

and West Africa  
2. Human-to-human transmission does not occur.  
3. The first case of monkeypox was reported in 1958 in humans.  
a. 1 Only    b. 2 Only    c. 1 and 3 Only  
d. 1, 2 and 3   e. Answer not known 

 Fuq;fk;ik Fwpj;j rhpahd $w;Wfis Njh;f 
1. tpyq;Ffs; %yk; gutf;$ba itu]; Nehahd ,J kj;jpa kw;Wk; Nkw;F Mg;gphpf;fhtpd; 

ntg;gkz;ly kiof;fhLfspy; Kjd;ikahf fhzg;gLfpwJ 
2. kdpjh;fsplkpUe;J kdpjh;fSf;F guthJ 
3. Fuq;fk;ikf;fhd Kjy; njhw;W 1958Mk; Mz;L kdpjh;fspy; fz;lwpag;gl;lJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 

23. The “India Innovation Index” is released by  
a. The Reserve Bank of India  
b. Indian Economic Trade Organisation  
c. Securities and Exchange Board of India  
d. NITI Aayog 
e. Answer not known 

 “,e;jpa GJikf; FwpaPL” – I ntspapLtJ __________ 
a. ,e;jpa hprh;t; tq;fp 
b. ,e;jpa nghUshjhu th;j;jf epWtdk; 
c. ,e;jpa gq;F kw;Wk; ghpth;j;jid thhpak; 
d. epjp MNahf; 
e. tpil njhpatpy;iy 
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24. Choose the correct statements regarding National Space Promotion and Authorisation 
Centre (IN-SPACe):  
1. It is a nodal agency for the promotion and regulation of space activities of both 

government and private entities.  
2. It facilitates the usage of ISRO facilities by private entities.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
Njrpa tpz;ntzp Kd;Ndw;w kw;Wk; mq;fPfhu ikak; (IN-SPACe) gw;wpa rhpahd 
$w;Wfis fz;lwpf 
1. ,J muR kw;Wk; jdpahh; epWtdq;fspd; tpz;ntsp eltbf;iffis Nkk;gLj;Jjy; 

kw;Wk; xOq;FgLj;Jtjw;fhd Kfik MFk;. 
2. ,J ,];Nuh trjpfis jdpahh; epWtdq;fs; gad;gLj;Jtjw;F cjTfpwJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

25. Choose the correct statements with reference to Mars Reconnaissance Orbiter (MRO) 
1. The Mission is under the European Space Agency.  
2. It aims to search for evidence that water persisted on the surface of Mars.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 nrt;tha; fpuf csT tpz;fyk; gw;wpa rhpahd $w;Wfis Njh;f 
1. INuhg;gpa tpz;ntsp Kfikapd; jpl;lkhFk; 
2. nrt;tha; fpufj;jpd; Nkw;gug;gpy; ePh; ,Ug;gjw;fhd Mjhuq;fis NjLtij Nehf;fkhf 

nfhz;Ls;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

26. How many pairs are correctly matched? 
Books      Authors 
1. Bhartiya Ramvidhan   - Narendra Modi 
2. The winning formula for success - M.S. Dhoni 
3. The India Story    - Bimal Jalan 
4. A place called Home   - Preeti Shenoy 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 

 vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
 E}y;fs;     Mrphpah;fs; 
 1. Bhartiya Ramvidhan   eNue;jpu Nkhb 
 2. The winning formula for success M.S. Njhdp 
 3. The India Story    gpky; [yd; 
 4. A Place called Home   gphPj;jp n~dha; 
 a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
 d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
  
27. The book titled “The Boy who wrote a constitution” was written by 

a. Prem Rawat  b. Vinod Rai    c. Rajesh Talwar 
d. Sonu Bogat  e. Answer not known 
“The Boy who wrote a constitution” vd;w Gj;jfj;jpd; Mrphpah;? 
a. gpNuk; uthj;  b. tpNdhj; uha;   c. ,uhN[~; jy;thh; 
d. NrhD Nghfj;  e. tpil njhpatpy;iy 
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28. The Book titled Gandhi’s Assassin was written by 
a. Ankita Verma  b. Thomas Mathew  c. Dhirendra Jha 
d. Subhash Garg  e. Answer not known 
Gandhi’s Assassin vd;w Gj;jfj;ij vOjpath; ahh;? 
a. md;fpjh th;kh  b. jhk]; khj;a+  c. jpNue;jpuh [h 
d. Rgh~; fhh;f;  e. tpil njhpatpy;iy 
 

29. Which of the following state topped 1st rank in the export preparedness index 2021? 
a. Gujarat  b. Maharashtra  c. Karnataka 
d. Tamil Nadu e. Answer not known 
Vw;Wkjpj; jahh;epiyf; FwpaPL 2021,y; Kjyplk; gpbj;j khepyk; vJ? 
a. F[uhj;  b. kfhuh~;buk;  c. fh;ehlfk; 
d. jkpo;ehL  e. tpil njhpatpy;iy 
 

30. How many pairs are correctly matched? 
I. S. Somanath  - 11th chairman of ISRO 
II. Antonio Costa – Prime Minister of Portugal 
III. Ayesha Malik – Pakistan’s first female Supreme Court Judge 
a. one pair  b. two pairs   c. three pairs 
d. None of these e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. S. Nrhk;ehj; - ,];Nuhtpd; 11tJ jiyth; 
II. me;NjhdpNah Nfh];lh – Nghh;r;Rfy; gpujkh; 
III. Map~h khypf; - ghfp];jhdpd; Kjy; ngz; cr;rePjpkd;w ePjpgjp 
a. Xh; ,iz  b. ,U ,izfs;  c. %d;W ,izfs; 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

31. The first country to adopt India’s UPI system was 
a. Bhutan  b. Nepal   c. Bangladesh 
d. Britain  e. Answer not known 
,e;jpahtpd; UPI Kiwia Vw;Wf;nfhz;l Kjy; ehL ________ 
a. g+lhd;  b. Neghsk;   c. tq;fNjrk; 
c. gphpl;ld;  e. tpil njhpatpy;iy 
 

32. The World’s first wildlife bond was issued by 
a. World Bank  b. New Development Bank  c. AIIB 
d. RBI    e. Answer not known 
cyfpd; Kjy; tdtpyq;F gj;jpuj;ij ntspapl;l mikg;G ________ 
a. cyf tq;fp  b. Gjpa tsh;r;rp tq;fp  c. AIIB 
d. RBI    e. tpil njhpatpy;iy 
 

33. Choose the correct statements regarding Standing Deposit Facility (SDF) of RBI  
1. It is a new tool for absorbing liquidity without any collateral.  
2. It was first recommended by the Urjit Patel Committee  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
hprh;t; tq;fpapd; epiyahd itg;G trjp gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ve;jnthU gizaKk; ,y;yhky; gzg;Gof;fj;ij mjpfhpf;f ,J xU Gjpa fUtpahFk;. 
2. ,j;jpl;lj;ij KJypy; ghpe;Jiuj;jJ ch;[pj; gl;Nly; fkpl;b 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
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34. Which among the following agencies are associated with development of the James Webb 
Space Telescope?  
1. National Aeronautics and Space Administration (NASA).  
2. Indian Space Research Organisation (ISRO).  
3. European Space Agency (ESA)  
4. Canadian Space Agency (CSA)  
a. All the above    b. 1, 2 and 4 only   c. 3 and 4 only  
d. 1, 3 and 4 only   e. Answer not known 

 N[k;]; ntg; tpz;ntsp njhiyNehf;fpapd; tsh;r;rpAld; njhlh;Gila Kfikfs; ahit? 
1. Njrpa tpkhdtpay; kw;Wk; tpz;ntsp eph;thfk; (NASA) 
2. ,e;jpa tpz;ntsp Muha;r;rp epWtdk; (ISRO) 
3. INuhg;gpa tpz;ntsp Kfik (ESA) 
4. fdlh tpz;ntsp Kfik (CSA) 
a. ,it midj;Jk;   b. 1> 2 kw;Wk; 4 kl;Lk; c. 3 kw;Wk; 4 kl;Lk; 
d. 1> 3 kw;Wk; 4 kl;Lk;  e. tpil njhpatpy;iy 

 
35. The Cas9 protein is   

a. A molecular scissors used in targeted gene editing.  
b. A biosensor used in the accurate detection of pathogens in patients.  
c. A gene that makes plants pest-resistant.  
d. A herbicidal substance synthesised in genetically modified crops. 
Cas9 Gujk; vd;gJ 
a. kugZ khw;w ,yf;fpy; gad;gLj;jg;gLk; xU %yf;$W fj;jhpf;NfhyhFk; 
b. Nehahspfspy; Neha;f;fpUkpfis Jy;ypakhf fz;lwpa gad;gLj;jg;gLk; xU caphpa 

czhpahFk; 
c. jhtuq;fis g+r;rp vjph;g;G rf;jp nfhz;ljhf khw;Wk; xU kugZthFk;. 
d. kugZ khw;wg;gl;l gaph;fspy; njhFf;fg;gl;l xU fisf;nfhy;yp nghUs; 
e. tpil njhpatpy;iy 
 

36. The difference between C. I. and S. I. for 2 years on a sum of money lent at 5% p.a. is Rs.5. 
Find the sum of money lent. 
a. Rs. 500  b. Rs. 1000   c. Rs. 1850   
d. 200   e. Answer not known 
xU njhif 2 tUlq;fspy; 5% Mz;L tl;b tPjj;jpy; fldhf toq;fpajpy; fpilj;j $l;L 
tl;b kw;Wk; jdp tl;b njhiffspd; tpj;jpahrk; &.5. vdpy; fldhf toq;fpa njhifia 
fhzTk;. 
a. Rs. 500  b. Rs. 1000   c. Rs. 1850   
d. 2000  e. tpil njhpatpy;iy 

 
37. The present age of A and B are in the ratio 4 : 5 and after five years they will be in the ratio 

5 : 6 then their sum of present age is 
a. 55 years  b. 35 years   c. 45 years   
d. 25 years  e. Answer not known 
A, B vd;gtu;fspd; jw;Nghija taJ tpfpjk; 4 : 5 5tUlq;fSf;F gpwF mth;fspd; taJ 
5 : 6 vdpy;> ,Uthpd; jw;Nghija tajpd; $Ljy; 
a. 55 tUlk;  b. 35 tUlk;   c. 45 tUlk;   
d. 25 tUlk;  e. tpil njhpatpy;iy 
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38. There are four Mobile Phones in a house. At 5 a.m, all the four Mobile Phones will ring 
together. Thereafter, the first one rings every 15 minutes, the second one rings every 20 
minutes, the third one rings every 25 minutes and the fourth one rings every 30 minutes. At 
what time, will the four Mobile Phones ring together again? 
a. 7 a.m.  b. 8 a.m. c. 9 a.m.  d. 10 a.m. e. Answer not known 
xU tPl;by; ehd;F miyNgrpfs; cs;sd. fhiy 5 kzpf;F> vy;yh miyNgrpfSk; xd;whf 
xypf;Fk;. mjd; gpd;> Kjy; miyNgrpahdJ xt;nthU 15 epkplq;fspYk; ,uz;lhtJ 
miyNgrpahdJ xt;nthU 20 epkplq;fspYk; %d;whtJ miyNgrpahdJ xt;nthU 25 
epkplq;fspYk; kw;Wk; ehd;fhtJ miyNghrpahdJ xt;nthU 30 epkplq;fspYk; xypf;fpd;wd 
vdpy;> mit kPz;Lk; vg;NghJ xd;whf xypf;Fk;?  
a. 7 a.m.  b. 8 a.m. c. 9 a.m.  d. 10 a.m.  e. tpil njhpatpy;iy 

 
39. If (x + 1) and 2(x + 1)(x2 - 4) are GCD and LCM of two polynomials and if the one of the 

polynomial is (x + 1)(x - 2) then the other polynomial is 
a. x2 – 4  b. (x + 1) (x + 2)   c. x + 2   
d. 2x2 + 6x + 4 e. Answer not known 
(x + 1) kw;Wk; 2(x + 1)(x2 - 4) Mfpatw;iw KiwNa kP.ngh.t kw;Wk; kP.ngh.k vdf; nfhz;l 
,uz;L gy;YWg;Gf; NfhitfSs; xd;W (x + 1)(x - 2) vdpy; kw;nwhU Nfhit vJ? 
a. x2 – 4  b. (x + 1) (x + 2)   c. x + 2   
d. 2x2 + 6x + 4 e. tpil njhpatpy;iy 

 
40. If 2x : y = 8 : 5, find (3x + 3y) : (4x – 2y) 

a. 6 : 2  b. 2 : 6  c. 9 : 2   d. 2 : 9  e. Answer not known 
2x : y = 8 : 5 vdpy; (3x + 3y) : (4x – 2y) d; kjpg;G ahJ? 
a. 6 : 2  b. 2 : 6  c. 9 : 2   d. 2 : 9  e. tpil njhpatpy;iy 
 

41. Which of the following institutions/meetings recently called on global governments to 
adopt a ‘Fire Ready Formula’ to combat wildfires?  
a. Glasgow Climate Meet  
b. Global Footprint Network  
c. World Wide Fund for Nature (WWF)  
d. United Nations Environment Programme (UNEP) 
fhl;Lj;jPia vjph;j;J NghuhLtjw;F ‘Fire Ready Formula’ it filgpbf;FkhW gpd;tUk; 
ve;j mikg;G / $l;lk; cyf ehLfSf;F miog;G tpLj;jJ? 
a. fpsh];Nfh fhyepiy $l;lk; 
b. cyf ghjr;RtL tiyaikg;G 
c. cyfshtpa ,aw;if epjpak; (WWF) 
d. If;fpa ehLfs; Rw;Wr;#oy; jpl;lk; (UNEP) 
e. tpil njhpatpy;iy 
 

42. The Akula class nuclear attack submarine (SSN) has to be imported from which country? 
a. France  b. Israel    c. Russia 
d. Israel  e. Answer not known   
mFyh gphpT mZrf;jp jhf;Fjy; ePh;%o;fpf; fg;gy; (SSN) ve;j ehl;bypUe;J ,wf;Fkjp 
nra;ag;glTs;sJ? 
a. gpuhd;];  b. ,];Nuy;    c. ,u~;ah 
d. ,];Nuy;  e. tpil njhpatpy;iy 
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43. Choose the correct statements regarding Partnership for Global Infrastructure and 
Investment (PGII) 
1. It is an initiative by ASEAN nations. 
2. It is an infrastructure development project to counter to China’s ‘Belt and Road 

Initiative’. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. None of these  e. Answer not known 
cyfshtpa cs;fl;likg;G kw;Wk; KjyPl;L $l;lhz;ik Fwpj;j rhpahd $w;Wfis 
fz;lwpf 
1. ,J njd; fpof;fhrpa ehLfspd; $l;likg;G (ASEAN) ehLfspd; Kaw;rpahFk;. 
2. ,J rPdhtpd; ‘ngy;l; mz;l; NuhL’ Kd;Kaw;rpia vjph;nfhs;Sk; cs;fl;likg;G 

Nkk;ghl;Lj; jpl;lkhFk;. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
44. Choose the correct statements regarding Sustainable Development Goals (SDGs): 

1. India is behind all south Asian nations except Pakistan in its 2021 SDG ranking. 
2. SDG India Index is developed by Oxfam India in collaboration with the United Nations. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2   e. Answer not known  
epiyahd ePbj;j tsh;r;rp ,yf;Ffs; (SDGs) Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,e;jpah mjd; 2021 SDG juthpirapy; ghfp];jhid jtpu midj;J njw;fhrpa 

ehLfSf;Fk; gpd;dhy; cs;sJ 
2. SDG ,e;jpah FwpaPl;il Mf;];ghk; ,e;jpah If;fpa ehLfSld; ,ize;J 

cUthf;fpAs;sJ. 
a. 1 kl;Lk;    b. 2 kl;Lk;    c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

45. Choose the correct statements regarding Nominated members in Rajya Sabha: 
1. They are not allowed to vote in the election of the Vice-President. 
2. They can not join any political party as generally they are independent members. 
3. They can take part in the proceedings of the House. 
a. 1 and 2 only  b. 2 and 3 only   c. 3 only 
d. 1, 2 and 3   e. Answer not known  
khepyq;fsitapd; epakd cWg;gpdh;fs; Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,th;fs; Jizf;FbauR jiyth; Njh;jypy; thf;fspf;f mDkjpf;fg;glkhl;lhh;fs;. 
2. nghJthf mth;fs; RNar;ir cWg;gpdh;fs; vd;gjhy; ,th;fs; ve;j murpay; fl;rpapYk; 

NruKbahJ. 
3. mth;fs; mit eltbf;iffspy; gq;Nfw;fyhk;. 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

46. How many pairs are correctly matched with reference to Sustainable Development Goals 
(SDG) 
1. SDG 4 : Quality Education 
2. SDG 7 : Affordable And Clean Energy 
3. SDG 12 : Sustainable Cities And Communities 
a. None of the pairs  b. Only one pair  c. Only two pairs 
d. All the three pairs e. Answer not known  
epiyahd ePbj;j tsh;r;rp ,yf;Ffs; Fwpj;J vj;jid ,izfs; rhpahf 
nghUj;jg;gl;Ls;sd? 
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1. SDG 4 : jukhd fy;tp 
2. SDG 7 : kypthd kw;Wk; Rj;jkhd Mw;wy; 
3. SDG 12 : ePbj;j epiyahd efuq;fs; kw;Wk; r%fq;fs; 
a. VJkpy;iy   b. Xh; ,iz   c. ,U ,izfs; 
d. %d;W ,izfs;  e. tpil njhpatpy;iy 
 

47. Choose the correct statements regarding Global Gender Gap Index, 2022: 
1. It is published by UN’s Inter-Agency Network on Women and Gender Equality 

(IANWGE). 
2. India’s score is above the global average in Political Empowerment dimension. 
3. India is ranked the last among all the countries in Health and Survival dimension. 
a. 1 only   b. 2 only   c. 2 and 3 only 
d. 1, 2 and 3   e. Answer not known 

 cyf ghypd ,ilntspf; FwpaPL 2022 Fwpj;j rhpahd $w;Wfis fz;lwpf 
1. ,J ngz;fs; kw;Wk; ghypd rkj;Jtk; Fwpj;j I.eh. Kfik tiyaikg;ghy; 

ntspaplg;gLfpwJ. 
2. murpay; mjpfhukspj;jy; ghpkhzj;jpy; ,e;jpahtpd; kjpg;ngz; cyf ruhrhpiatpl 

mjpfkhf cs;sJ. 
3. MNuhf;fpak; kw;Wk; caph;thOk; ghpkhzj;jpy; midj;J ehLfspYk; ,e;jpah filrp 

,lj;jpy; cs;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 2 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

48. Choose the correct statements regarding the ‘Swachh Sagar, Surakshit Sagar’ campaign: 
1. It is a 75 days citizen led campaign for improving ocean health collective action. 
2. A mobile app “Eco Mitram” has been launched to spread awareness about the 

campaign. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 

 ];tr; rhfh;> Ruf;rpj; rhfh; gpur;rhuk; Fwpj;j rhpahd $w;Wfis fz;lwpf 
1. $l;L eltbf;iffspd; 5yk; fly; MNuhf;fpaj;ij Nkk;gLJ;Jtjw;fhd 75 ehl;fs; 

eilngWk; Fbkf;fs; gq;Nfw;Fk; gpur;rhukhFk;. 
2. ,g;gpur;rhuk; Fwpj;j tpopg;Gzh;it gug;g ‘vf;Nfh kpj;uk;’ ifg;Ngrp nrayp 

njhlq;fg;gl;Ls;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 

 
49. Choose the correct statements regarding Agriculture Infrastructure Fund (AIF) 

1. It is a pan India Central Sector Scheme launched in the year 2020. 
2. It provides a medium - long term debt financing facility for investment in viable 

projects. 
3. All loans under this financing facility will have an interest subvention of 10% per 

annum up to a limit of Rs. 2 crores. 
a. 1 only   b. 1 and 2 only  c. 3 only 
d. 1, 2 and 3   e. Answer not known 
Ntshz; cs;fl;likg;G epjpak; Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,J 2020Mk; Mz;L njhlq;fg;gl;l kj;jpa muR jpl;lkhFk;. 
2. ,J rhj;jpakhd Ntshz; jpl;lq;fspy; KjyPL nra;tjw;fhd eLj;ju ePz;lfhy fld; 

epjp trjpia toq;FfpwJ. 
3. ,e;j epjp trjpapd; fPo; cs;s midj;J fld;fSf;Fk; Mz;bw;F 10 rjtPj khdpa 

tl;bapy; &.2 Nfhb tiu mspf;fg;gLfpwJ. 
a. 1 kl;Lk;   b. 1 kw;Wk; 2   c. 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
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50. The Global Employment Trends for Youth 2022 report was released by which organisation? 
a. World Economic Forum    b. World Bank 
c. International Labour Organisation  d. International Monetary Fund 
e. Answer not known 
,isQh;fSf;fhd cyfshtpa Ntiytha;g;G Nghf;Ffs; 2022 mwpf;if ve;j mikg;ghy; 
ntspaplg;gl;lJ? 
a. cyf nghUshjhu kd;wk;   b. cyf tq;fp 
c. rh;tNjr njhopyhsh; mikg;G   d. rh;tNjr gz epjpak; 
e. tpil njhpatpy;iy 

 
51. Choose the correct statements regarding Monetary Policy Committee 

1. It is Constituted by RBI under the Reserve Bank of India (RBI) Act, 1934. 
2. It is Chaired by the Governor of RBI. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 

 gzf;nfhs;if FO Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,f;nfhs;if ,e;jpa hprh;t; tq;fp rl;lk; 1934gb ,e;jpa hprh;t; tq;fpahy; 

cUthf;fg;gl;lJ. 
2. ,jd; jiyth; ,e;jpa hprh;t; tq;fp MSeh; Mthh; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

52. Mithila Makhana has been awarded the Geographical Indication (GI) Tag by the Union 
Government from which state? 
a. Maharashtra  b. Bihar   c. Uttar Pradesh 
d. Himachal Pradesh e. Answer not known 
kj;jpa murhy; Gtprhh;f; FwpaPL toq;fg;gl;l kpjpyh kf;fhdh ve;j khepyj;ijr; Nrh;e;jJ? 
a. kfhuh~;buk;  b. gPfhh;   c. cj;jpugpuNjrk; 
d. ,khr;ry gpuNjrk; e. tpil njhpatpy;iy 

 
53. Choose the correct statements regarding DISHA scheme 

1. It is a scheme by the Department of Justice. 
2. It is to be implemented during the period of 2021 to 2026. 
3. Its objective is to implement the Pan India Legal Literacy and Legal Awareness 

Programme. 
a. 1 only   b. 2 and 3 only  c. 1 and 2 only 
d. 1, 2 and 3   e. Answer not known 

 DISHA jpl;lk; Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,J xU ePjpj;Jiw jpl;lkhFk;. 
2. ,j;jpl;lk; 2021 – 2026 Mk; Mz;by;; nray;gLj;jTs;sJ. 
3. ,e;jpa rl;l fy;tpawpT kw;Wk; rl;l tpopg;Gzh;T nray;gLj;Jtij Nehf;fkhff; nfhz;l 

jpl;lkhFk;. 
a. 1 kl;Lk;   b. 2 kw;Wk; 3   c. 1 kw;Wk; 2 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
54. Choose the correct statements regarding Bharatmala Pariyojana 

1. It is a scheme under the Ministry of Shipping to provide better logistics efficiency. 
2. It will help in the creation of a Multi Modal Logistics Park  
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
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 ghuj;khyh ghpNah[dh Fwpj;j rhpahd $w;Wfis Njh;f 
1. ,J rpwe;j jsthl nray;jpwid toq;Ftjw;fhf fg;gy; Nghf;Ftuj;J mikr;rfj;jpd; 

fPo; cs;s jpl;lkhFk;. 
2. ,J gy; Kfl;L jsthlg; g+q;fhf;fis mikf;f cjTfpwJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

55. Which of the following crop nutrients is/are covered under One Nation-One Fertilizer 
(ONOF) initiative? 
1. Urea 
2. Di-ammonium phosphate (DAP) 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
xNu ehL – xNu cuk; Kd;Kaw;rpapd; fPo; gpd;tUk; ve;j gaph; Cl;lr;rj;Jf;fs; 
cs;slq;fpAs;sd? 
1. A+hpah 
2. il mk;Nkhdpak; gh];Ngl; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

56. Which one of the following edicts mention the personal name of Asoka? 
a. Kalsi   b. Rummindei  c. Special Kalinga Edict   
d. Maski   e. Answer not known 
ve;j fy;ntl;L mNrhfhpd; ,aw;ngaiu Fwpg;gpLfpwJ. 
a. fy;rp   b. Uk;kpd;Njap  c. rpwg;G fypq;fh fy;ntl;L   

d. k];fp   e. tpil njhpatpy;iy 
 

57. Who among the following presided over the Buddhist Council held during the reign of 
Kanishka at Kashmir? 
a. Parsva   b. Nagarjuna    c. Sudraka    
d. Vasumitra   e. Answer not known 
fdp~;fh;> fh~;kPhpy; $l;ba Gj;jrka khehl;il jiyik jhq;fpath; ahh;? 
a. ghh;rth   b. ehfhh;[_dh    c. Rj;ufh;   
d. tRkpj;uh   e. tpil njhpatpy;iy 

 

58. The ancient Indian play Mudrarakshasa of Vishakhadatta has its subject on 
a. a conflict between Gods and Demons of ancient Hindu care 
b. a romamtic story of Aryan prince and a tribal woman 
c. the story of the power struggle between two Aryans  
d. the court intrigues at the time of Chandragupta. 
e. Answer not known 
gz;ila ,e;jpahtpd ehlfkhd tprhfjj;jhtpd; Kj;uhuf;~h vij ikakhf nfhz;bUe;jJ. 
a. gz;ila ,e;J flTs;fSf;Fk; Nga;> kw;Wk; gprhRfSf;fpila eilngw;w jfuhW. 
b. Mh;a ,sturUf;Fk;> kiy [hjp ngz;Zf;FkpilNa Vw;gl;l fhjy; 
c. ,uz;L Mh;aUfSf;fpilNa Vw;gl;l jfuhW. 
d. re;jpu Fg;jh; fhyj;jpy; mitapy; Nkw;nfhz;l rjp eltbf;if 
e. tpil njhpatpy;iy 

 

59. With reference to the economic history of Medieval India, the term ‘Araghatta’ refers to  
a. bonded labour. 
b. land grants made to military officers 
c. waterwheel used in the irrigation of land 
d. wasteland converted into cultivated land. 
e. Answer not known 
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,ilf;fhy ,e;jpa nghUshjhu tuyhw;wpd; Fwpg;gpd;gb “muf;fhj;jh” vd;w thh;j;ij vij 
Fwpg;gpLfpwJ. 
a. nfhj;jbik    
b. ,uhZt mjpfhhpfSf;F toq;fg;gl;l epykhdpak; 
c. ghrd epyj;jpw;fhf gad;gLj;jg;gLk; ePh; rf;fuk; 
d. jhpR epyj;ij> rhFgb epykhf khw;Wk; gzp 
e. tpil njhpatpy;iy 

 
60. Which one of the following books of ancient India has the love story of the son of the 

founder of Sunga Dynasty? 
a. Swapnavasavadatta b. Malavikagnimitra   c. Meghadoot  
d. Ratnavali   e. Answer not known 
fPo;f;fz;l E}ypy; ve;j E}y; Rq;f tk;r epWtdhpd; fhjy; fij  
a. Rtg;d thrtjj;jh b. khstpfhf;dpkpj;uh    c. NkfJ}jk;   
d. uj;dhtsp   e. tpil njhpatpy;iy 

 
61. Which one of the following monuments has a dome which is said to be the largest in the 

world? 
a. Tomb of Sher Shah, Sasaram    b. Juma Masjid, Delhi 
c. Tomb of Ghiyas-ud-din Tughlaq, Delhi  d. Gol Gumbaz, Bijapur 
e. Answer not known 
ve;j epidT rpd;dj;jpy; mikf;fg;gl;l rkhjp cyfpNyNa kpfg; nghpa rkhjpahf 
fUjg;gLfpwJ. 
a. rrhuj;jpy; cs;s n~h;~htpd; rkhjp   b. nly;ypapd; [pk;kh k#jp 
c. nly;ypapy; cs;s fpahRjPd; Jf;sf;fpd; rkhjp d. gP[g;G+hpy; cs;s Nfhy;Fk;gh]; 
e. tpil njhpatpy;iy 

 
62. Ashtapradhan was a Council of Ministers 

a. in the Gupta administration  b. in the Chola administration 
c. in the Vijayanagar administration d. in the Maratha administration 
e. Answer not known 
m~;lgpujhd; vd;Dk; mikr;ruit ahUila eph;thfj;jpy; ,Ue;jJ. 
a. Fg;jh;fspd; eph;thfk;  b. Nrhoh;fspd; eph;thfk;  c. tp[aefhpd; eph;thfk; 
d. kuhj;jpa eph;thfk;   e. tpil njhpatpy;iy 

 
63. Mughal Painting reached its zenith under 

a. Humayun   b. Akbar   c. Jahangir     
d. Shahjahan   e. Answer not known 
nkhfyha Xtpak; ahUila fhyj;jpy; cr;repiyia mile;jJ. 
a. `_khA+d;   b. mf;gh;   c. [`hq;fPh;   
d. ~h[`hd;   e. tpil njhpatpy;iy 

 

64. Consider the following: 
1. Tughlaqabad fort  2. Lodi Garden 
3. Qutub Minar  4. Fatehpur Sikri 
The correct chronological order in which they were built is 
a. 3, 1, 4, 2  b. 3, 1, 2, 4   c. 1, 3, 2, 4   
d. 1, 3, 4, 2  e. Answer not known 
fPo;f;fz;ltw;iw rhpahd fhythpirg;gb vOjTk;. 
1. Jf;sfhghj; Nfhl;il  2. Nyhb Njhl;lk; 
3. FJg;kpdhh;    4. gNjG+h; rpf;hp 
a. 3, 1, 4, 2  b. 3, 1, 2, 4   c. 1, 3, 2, 4   
d. 1, 3, 4, 2  e. tpil njhpatpy;iy 
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65. The Mangols under Chengiz Khan invaded India during the reign of  
a. Balban    b. Firoz Tughlag   c. Iltutmish   
d. Mohammed Bin Tughlaq e. Answer not known 
ahUila Ml;rpf;fhyj;jpy; kq;Nfhypah;fs; nrq;fp];fhdpd; jiyikapy; ,e;jpahit 
jhf;fpdhh;? 
a. ghy;gd;    b. ngNuh]; Jf;sf;   c. ,y;Jkp];   
d. KfkJ gpd; Jf;sf;  e. tpil njhpatpy;iy 

 
66. Consider the followings statements. 

Assertion (A): Saluva Narasimha put an end to the old dynasty and assumed the royal title. 
Reason (R): He wanted to save the kingdom from further degeneration and disintegration. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): rhSt eurpk;kd; gioa tk;rj;jpd; Ml;rpf;F Kw;WGs;sp itj;J jhd; cah;e;j 
nghWg;ig Vw;Wf;nfhz;lhh;. 
fhuzk; (R): jd;Dila Ml;rp NkYk; rpjwhky;> gphpe;Jtplhky; ghJfhf;f tpUk;gpdhh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
67. Alam Khan, one of those who invited Babur to invade India was 

a. an uncle of Ibrahim Lodi and a pretender to the throne of Delhi. 
b. A cousin of Ibrahim Lodi who was ill-treated and expelled from the country. 
c. the father of Dilwar Khan to whom cruel treatment was meted out by Ibrahim Lodi. 
d. a high official in Punjab who was very much discontented with Ibrahim Lodi treatment 

to his tribe. 
e. Answer not known 
ghgiu ,e;jpahtpw;F gilnaLf;f mioj;j Myk; fhd; 
a. ,g;uh`pk; Nyhbapd; khkh kw;Wk; nly;yp mhpaiz mtUf;F kWf;fg;gl;lJ 
b. ,g;uh`pk; Nyhbapd; xd;W tpl;l rNfhjuuhd mth; Nkhrkhf elj;jg;gl;L ehl;il tpl;L 

ntspNaw;wg;gl;lhh; 
c. jpy;thh;fhdpd; mg;gh> mth; ,g;uh`pk; Nyhbahy; fLikahf nfhLikg;gLj;jg;gl;lhh;. 
d. gQ;rhgpy; cah; gjtpapy; ,Ue;j ,th;> ,g;uh`pk; Nyhb jdJ kugpdiu nfhLikahf 

elj;jpajhy; mth; kPJ Nfhgj;jpy; ,Ue;jhh;. 
e. tpil njhpatpy;iy 

 

68. Who was the last ruler of the Tuglaq dynasty of the Delhi Sultanate? 
a. Firuz Shah Tughaq b. Ghiyas-ud-din Tughlaq Shah II   c. Nasir-ud-din Mahmud  
d. Nusrat Shah  e. Answer not known 
nly;yp Ry;jhd;fspy; Jf;sf; tk;rj;jpd; filrp Ml;rpahsh; ahh;? 
a. ngNuh]; ~h; Jf;sf; b. ,uz;lhk; fpahRjPd; Jf;sf; ~h  c. erpUjPd; Kfk;kJ  
d. e];uj;~h   e. tpil njhpatpy;iy 
 

69. Tulsidas, the author of Ramcharitamanas, was a contemporary of which of the following 
rulers? 

     a. Akbar    b. Humayun    c. Shahjahan   
d. Sher Shah Suri   e. Answer not known 
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gpd;tUk; Ml;rpahsh;fSs; uhkrhpjkdh]; ,aw;wpa Jsrpjhrhpd; rkfhyj;jtuhf ,Ue;jth; 
______. 
a. mf;gh;   b. `pkhA+d;   c. ~h[fhd;   
c. n~h;~h #hp  e. tpil njhpatpy;iy 

 
70. During whose regin, the Buddhist Monk Nagarjuna intiated reforms in the way Buddhism 

was being followed? 
a. Dhanandha  b. Chandragupta    c. Kanishka    
d. Bimbisara   e. Answer not known 
ahh; Ml;rpf; fhyj;jpy;> ngsj;jj; Jwtp ehfhh;[{dh vd;gth; ngsj;jj;jpy; rPh;jpUj;jj;ijf; 
nfhz;L te;jhh;?  
a. jdee;jh;  b. re;jpuFg;jh;   c. fdp~;fh;   
d. gpk;gprhuh;   e. tpil njhpatpy;iy 

 
71. Boundaries of Harappan culture:- Match the following: 

A. Sutkagen – dor 1. Pakistan –Iran  i) west 
B. Shortugai  2. Maharashtra   ii) North  
C. Alamgirpur  3. Afghanistan   iii) East  
D. Diamabad  4. Uttar Pradesh   iv) south  
 A  B  C  D 
a. 1-(i)  3-(ii)  4-(iii)  2-(iv) 
b. 3-(ii)  4-(i)  2-(iv)  1-(iii) 
c. 4-(i)  2-(iii)  1-(ii)  3-(iv) 
d. 2-(iii)  1-(ii)  3-(iv)  4-(i)   
e. Answer not known 
`ug;gh ehfhpfj;jpd; vy;iyfs; - nghUj;Jf:  
A. Rl;fhn[d; - Nlhh; 1. ghfp];jhd; - <uhd;  i. Nkw;F  
B. N~hh;Lif   2. k`huh~;buh   ii. tlf;F 
C. Myk;fPh;G+h;   3. Mg;fhdp];jhd;   iii. fpof;F  
D. ilkhghj;   4. cj;jug;gpuNjrk;   iv. njw;F  
 A  B  C  D 
a. 1-(i)  3-(ii)  4-(iii)  2-(iv) 
b. 3-(ii)  4-(i)  2-(iv)  1-(iii) 
c. 4-(i)  2-(iii)  1-(ii)  3-(iv) 
d. 2-(iii)  1-(ii)  3-(iv)  4-(i)   
e. tpil njhpatpy;iy 

 
72. Choose the correct statement about Bahmani statement 

I. Alauddin Bahman shah set up the Bahmani sultanate in 1347 AD with capital as 
Bidar 

II. Mahmud Gawan, a great statesman and loyal minister for Mohammad Shah 
III. By the end of 15th century, Deccan sultanates divided into five groups 
IV. Golkonda and Ahmednagar were the largest of these sultanates  
a. 1, 3, 4 b. 2, 3, 4 c. 1, 2, 3 d. 1, 2, 4   e. Answer not known 
ghkpdp muR gw;wpa rhpahd $w;iw Njh;T nra;f.  
I. myhTjPd; ghkhd;~h fp.gp. (ngh.M) 1347 ,y; ghkpdp Ry;jhdpaj;ij gplhiu 

jiyefuhff; nfhz;L cUthf;fpdhh;.  
II. KfKJ fthd; mth;fs; murpay; NkijahfTk;> Kfkj; ~htpw;Fk; tpRthrkpf;f 

mikr;rUkhthh;.  
III. gjpide;jhk; E}w;whz;bd; ,Wjpapy; jf;fhzj;jpy; Ie;J Ry;jhdpaq;fs; cjakhapd.  
IV. ,e;j Ry;jhdpaq;fspy; Nfhy;nfhz;lh kw;Wk; mfkJefh; kpfg;nghpait.  
a. 1, 3, 4  b. 2, 3, 4  c. 1,2, 3  d. 1, 2, 4 e. tpil njhpatpy;iy 
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73. The Indus valley site of Harappa was first visited by     
a. Alexander Cunningham  b. Charles Mason       
c. Alexander Burnes   d. Sir John Marshal     
e. Answer not known 
rpe;J rkntsp ,lkhd `ug;ghit Kjypy; fz;Lgpbj;jth; 
a. mnyf;rhz;lh; fd;dpq;fhk; b. rhh;y]; Nkrhd;  
c. mnyf;]hz;lh; gh;d;];  d. rh;[hd; khh;~y; 
e. tpil njhpatpy;iy 

 
74. The Megudi temple is located in which among the following places?  

a. Badami   b. Aihole     c. Banvasi   
d. Talakad   e. Answer not known 
nkFb Nfhapy; gpd;tUk; ve;j ,lj;jpy; mike;Js;sJ?  
a. ghjhkp  b. IN`hNy    c. gd;thrp    
d. jyfhl;   e. tpil njhpatpy;iy 

 
75. What are the measures taken by Muhammad Bin Tughlaq  

1. Transfer of capital to Daulatabad  
2. Established Diwan–i–Amir Kohi  
3. Loans were advanced to farmers for purchase of cattle, seeds and digging of wells but 

to no avail. 
a. 1 only   b. 2 only   c. 2 and 3 only  
d. All the above  e. Answer not known 
KfkJ gpd; Jf;sf; Nkw;nfhz;l eltbf;iffs; vd;d?  
1. jiyefuj;ij njsyjhghj;jpw;F khw;wpdhh;  
2. jpthd;-,-mkph; Nfh`pia cUthf;fpdhh;. 
3. fhy;eilfisAk; tpijfisAk; thq;f> fpzWfs; ntl;l tptrhapfSf;F fld; 

jug;gl;lJ vd;whYk; ,J gad;jutpy;iy. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 2 & 3 ,uz;Lk;  

d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 
 

76. Find the compound interest for 
1

2
2

 years on ₹4000 at 10% p.a if the interest is compounded 

yearly. 
a. Rs. 1082  b. Rs. 1208    c. Rs. 1280   
d. Rs.1820  e. Answer not known 
Rs.4000 ,f;F 10% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; Kiwapy; 
2½ Mz;LfSf;F> fpilf;Fk; $l;L tbl;biaf; fhz;f.  
a. Rs. 1082  b. Rs. 1208    c. Rs. 1280   
d. Rs.1820  e. tpil njhpatpy;iy 

 
77. Fill in the blanks 1, 6, 15, 28, 45 __________ 91 

a. 69  b. 67  c. 57  d. 66   e. Answer not known 
Nfhbl;l ,lj;ij epug;Gf. 1, 6, 15, 28, 45, ________ 91  
a. 69  b. 67  c. 57  d. 66  e. tpil njhpatpy;iy  

 
78. Find the 10th term of a G.P. whose 8th term is 768 and the common ratio is 2.  

a. 1536 b. 3072 c. 2372  d. 3720 e. Answer not known 
xU ngUf;fj;njhlu; typirapd; 8-tJ cWg;G 768 kw;Wk; nghJ tpfpjk; 2 vdpy;> mjd; 10-
tJ cWg;igf; fhz;f. 
a. 1536 b. 3072 c. 2372  d. 3720 e. tpil njhpatpy;iy 
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79. Simplify: 
2 2

2 3

3 2 2 3

x x

x x x x

+ −
+

+ + − −
 

a. 
1

1x +
 b. 

1

1x

−

+
 c. 

2

1x +
 d. 

2

1x

−

+
 e. Answer not known 

RUf;Ff: 
2 2

2 3

3 2 2 3

x x

x x x x

+ −
+

+ + − −
 

a. 
1

1x +
 b. 

1

1x

−

+
 c. 

2

1x +
 d. 

2

1x

−

+
 e. tpil njhpatpy;iy  

 
80. The monthly salary of A,B,C is in the proportion of 2 : 3 : 5, If C’s Monthly salary is Rs. 

1,200 more than that of A, then B’s annual salary is  
a. Rs. 14,400  b. Rs. 24,000   c. Rs. 1,200   
d. Rs. 2,000  e. Answer not known 
A, B, C Mfpa %th;fspd; khj rk;gs tpfpjk; 2 : 3 : 5 MFk; C-d; khj rk;gsk; A ia 
fhl;bYk; &. 1>200 mjpfk; vdpy; B apd; Mz;L rk;gsk; vd;d?  
a. Rs. 14,400  b. Rs. 24,000   c. Rs. 1,200   
d. Rs. 2,000  e. tpil njhpatpy;iy  

 
81. Those who introduced the Aayakkaarar system a village officers system were ________. 

a. Delhi Sultanate   b. Bahmini Kings  c. Vijayanagar Kings  
d. Mughals    e. Answer not known 
Maf;fhuu; Kiw vd;w fpuhk mjpfhupfs; Kiwiaj; Njhw;Wtpj;jtu;fs;? 
a. nly;yp Ry;jhdpau;fs;   b. ghkpdp muru;fs;  c. tp[aefu muru;fs;   
d. Kfyhau;fs;   e. tpil njhpatpy;iy 

 
82. How was the Brahmini king Muhammad Shah’s empire divided? 

a. Sarkars > Tarafs > Parganas > Villages 
b. Parganas > Sarkars > Parganas > Villages 
c. Tarafs > Sarkars > Parganas > Villages 
d. Parganas > Tarafs > Sarkars > Villages 
e. Answer not known 
ghkpdp muru; KfkJ~htpd; fhyj;jpy; NguuR vt;thW gpupf;fg;gl;bUe;jJ? 
a. ru;f;fhu;fs; > jug;Gfs; > gu;fhdhf;fs; > fpuhkq;fs; 
b. gu;fhdhf;fs; > ru;f;fhu;fs; > jug;Gfs; > fpuhkq;fs;  
c. jug;Gfs; > ru;f;fhu;fs; > gu;fhdhf;fs; > fpuhkq;fs; 
d. gu;fhdhf;fs; > jug;Gfs; > ruf;fhu;fs; > fpuhkq;fs; 
e. tpil njhpatpy;iy 

 

83. The author of Tarikh-i-Rashidi is 
a. Tansen   b. Abulfasal   c. Mirza Hyder   
d. Gulbadan Begam  e. Answer not known 
‘jhupf;-,-u~pjp’ vd;w E}iy vOjpatu;? 
a. jhd;Nrd;   b. mGy;ghry;   c. kpu;rhi`ju;   
d. Fy;gjhd; Ngfk;   e. tpil njhpatpy;iy 

 

84. Who opposed the practice of Sati? 
a. Akbar   b. Portugues governor Albuquerque c. Rajaram Mohan Roy 
d. All the above  e. Answer not known 
rjp vd;Dk; cld;fl;il VWjiy vjph;j;jth;? 
a. mf;gh;   b. Nghh;r;Rf;fPrpa MSeh; my;Gfh;f;    c. ,uh[huhk; Nkhfd;uha; 
d. Nkw;$wpa midtUk;  e. tpil njhpatpy;iy 
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85. The book that has types of surgery as its content 
a. Saraga Samhitha  b. Susurudha Samhitha  c. Ashtaangahridayaa  
d. Agni Vesa Thantraa e. Answer not known 
mWitrpfpr;ir Kiwfs; gw;wpa Fwpg;Gfs; ,lk;ngw;Ws;s kUj;Jt E}y;? 
a. ruf rk;`pij  b. RRUj rk;`pij   c. m~;lhq;f`pUjah  
d. mf;dp Ntj je;jpuk;  e. tpil njhpatpy;iy 
 

86. Gandhi has been honored with which of the following 
1. Kaisari-Hind gold Medal 2. Zulu war silver medal  
3. Queen Victoria award  
a. 1 and 3 only  b. 1 and 2 only   c. 2 and 3 only   
d. all the above  e. Answer not known 
fhe;jp> gpd; tUtdtw;Ws; vjdhy; nfsutpf;fg;gl;lhh;?  
1. nfa;rh;-,-`pe;j; jq;f gjf;fk;  2. [PY Nghh; nts;sp gjf;fk;  
3. tpf;Nlhhpah Nguurp tpUJ   
a. 1 kw;Wk; 3 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk;  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
87. The Indian Liberal Federation was started by who among the following? 

a. Gopal Krishna Gokhale   b. Surendranath Banerjee   c. Indulal Yagnik   
d. Acharya Kripalani   e. Answer not known 
 ,e;jpa Rje;jpu $l;likg;G gpd;tUgth;fspy; ahuhy; Njhw;Wtpf;fg;gl;lJ?  
a. Nfhghy fpU~;z NfhfNy b. RNue;jpuehj; Ngdh;[p  c. ,e;Jyhy; ahf;dpf; 
d. Mr;rhh;ah fpUghspdp   e. tpil njhpatpy;iy 

 
88. Match List I with List II  

List I      List II 
A. Santhal rebellion     1. East Bengal 
B. Pabna Revolt     2. Bengal 
C. Deccan Riots     3. Bihar 
D. Indigo Revolt    4. Poona 
 A B C D 
a. 3 1 4 2 
b.  1 2 3 4 
c. 2 3 1 4 
d.  4 3 2 1 
e. Answer not known 
nghUj;Jf:  
 gl;bay; I     gl;bay; II 
A. rhe;jy; Gul;rp     1. fpof;F tq;fhsk;  
B. ghg;dh Gul;rp     2. tq;fhsk;  
C. jf;fhz fytuk;    3. gPfhh;  

D. ,z;bNfh Gul;rp    4. G+dh  
 A B C D 
a. 3 1 4 2 
b.  1 2 3 4 
c. 2 3 1 4 
d.  4 3 2 1 
e. tpil njhpatpy;iy 
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89. Choose the correct statement regarding the H.S.R.A (Hindustan Socialistic Republican 
Association) 
1. The socialist and capitalistic ideals and the October Revolution in Russia of 1917 were 

largely influenced among revolutionaries of HSRA 
2. Chandrashekhar Azad, Shivaram Rajguru and Sukhdev Thapar were members of the 

H.S.R.A (Hindustan Socialistic Republican Association) 
a. I only  b. II only   c. Both I and II   
d. None  e. Answer not known 
`pe;J];jhd; Nrhryp];l; upgg;spfd; mNrhrpNa~d; njhlu;ghd $w;Wfis fUj;jpy; nfhs;f. 
1. 1917 ,y; u~;ahtpy; ele;Njwpa mf;Nlhgu; Gul;rpAk; Nrhryp];l; kw;Wk; Kjyhspj;Jt 

rpj;jhe;jq;fSk; ,e;jg; Gul;rpahsu;fspilNa ngUk; nry;thf;ifr; nrYj;jpaJ. 
2. re;jpuNrfu Mrhj;> rptuhk; uh[FU> RfNjt; jhgu; MfpNahu; `pe;J];jhd; Nrhryp];l; 

upgg;spfd; mNrhrpNa~dpd; cWg;gpdu;fshtu;. 
rupahd $w;iw Nju;Tnra;f. 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
90. Match the following  

A. Lala Hardayal    1. Theosophical society 
B. Valentine Chirol    2. Luck now pact 
C. A.C. Mazumdar    3. Ghadar party 
D. Col. olcott    4. Indian unrest  
 A B C D 
a. 3 4 2 1 
b. 4 3 1 2  
c. 1 2 3 4  
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf:  
A. yhyh `h;jahs;    1. jpNahrhgpfy; nrhirl;b  
B. Ntyd;ild; fpNuhy;  2. yf;Ndh cld;gbf;if  
C. V.rp. k#k;jhh;   3. fhjh; fl;rp  
D. fh;dy; My;fhl;   4. ,e;jpad; md;nu];l; (mikjpapd;ik)  
 A B C D 
a. 3 4 2 1 
b. 4 3 1 2  
c. 1 2 3 4  
d. 4 2 1 3 

 e. tpil njhpatpy;iy 
 
91. In which year Gandhi went to South Africa in connection with a case involving his client, 

Dada Abdullah? 
a. 1890 b. 1891 c. 1893  d. 1898 e. Answer not known 
ve;j Mz;by; fhe;jp jdJ thbf;ifahsh; jhjh mg;Jy;yh rk;ge;jg;gl;l tof;F njhlu;ghf 
njd; Mg;hpf;fhtpw;Fr; nrd;whh;? 
a. 1890 b. 1891 c. 1893  d. 1898 e. tpil njhpatpy;iy 

 
92. Consider the following 

Assertion (A): Mahatma Gandhi was awarded the Kaiser-i- Hind in 1915 by the Lord 
Hardinge of Penshurst. 
Reason (R): It was awarded to Gandhi for his contribution to ambulance services in South 
Africa. 
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a. Both A and R are correct and R is correct explanation. 
b. A and R are correct and R does not explain A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUtdtw;iw ftdpf;fTk;. 
$w;W (A): fhe;jpf;F 1915,y; ngd;~u;];l; gpuG `hu;bq;fhy; nfa;ru;-,-`pe;j; gl;lk; 
toq;fg;gl;lJ. 
fhuzk; (R): njd;Mg;hpf;fhtpd; Mk;Gyd;]; Nritfspy; fhe;jpapd; gq;fspg;Gf;fhf ,J 
toq;fg;gl;lJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y  
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
93. Which of the following events led to Champaran Satyagraha in 1917? 

I. Tinkathia system. 
II. End of the nineteeth century German synthethic dyes replaced indigo. 
III. European planters demanded high rents and illegal dues from the peasants. 
IV. The peasants were forced to sell the produce at prices fixed by the Europeans. 
a. I, II, III    b. I, III, IV   c. II, III 
d. I, II, III, IV   e. Answer not known 
gpd;tUk; epfo;Tfspy; vJ 1917 ,y; rk;guhd; rj;jpahfpufj;jpw;F toptFj;jJ? 
I. jpd;fjpah Kiw 
II. gj;njhd;gjhk; E}w;whz;bd; ,Wjpapy; ,z;bNfhtpw;F gjpyhf n[u;kdpapd; 

nraw;f;ifr; rhaq;fs; gad;gLj;jg;gl;ld. 
III. INuhg;gpa Njhl;lf;fhuu;fs; tptrhafsplkpUe;J mjpf Fj;jif kw;Wk; rl;l tpNuhj 

fl;lzq;fis nrYj;JkhW Nfhhpdu;. 
IV. tptrhapfs; jq;fspd; tpisg;nghUl;fis INuhg;gpau;fshy; epu;zapf;fg;gl;l tpiyf;F 

tpw;f Ntz;ba fl;lhak; Vw;gl;lJ. 
a. I, II, III b. I, III, IV c. II, III  d. I, II, III, IV e. tpil njhpatpy;iy 

 
94. Who was invited Gandhi to head the Ahmadabad Mill strike in 1918? 

a. Ambalal Sarabhai   b. Anusuya Sarabhai  c. Gokhale   
d. Rajkumar Shukla   e. Answer not known 
1918,y; eilngw;w mfkjhghj; Miy NtiyepWj;j Nghuhl;lj;jpw;F jiyikNaw;f;Fk;gb 
fhe;jpia mioj;jtu; ahu;? 
a. mk;gyhy; rhuhgha;  b. mDRah rhuhgha;   c. NfhfNy   
d. uh[;Fkhu; Rf;yh   e. tpil njhpatpy;iy 

 
95. Which of the following statement/s is/are correct about Rowlatt Act? 

I. Officially known as the Anarchial and Revolutionary Crimes Act, 1919. 
II. Passed in February 1919 by the Imperial Legislative Council. 
III. It empowered the police to search for a place without a Warrant. 
IV. This act authorised the British government to arrest anybody suspected of terrorist 

activities. 
V. It placed several restrictions on the freedom of the press. 
a. I, II, IV   b. II, IV, V   c. I, III, IV, V 
d. I, II, III, IV, V  e. Answer not known 
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nuayl; rl;lk; njhlh;ghd gpd;tUk; $w;WfSs; vJ rhp? 
I. ,J muh[f kw;Wk; fpsh;r;rp Fw;wq;fs; rl;lk; 1919 vd;W mjpfhuG+h;tkhf  

miof;fg;gLfpwJ. 
II. gpg;uthp 1919 ,y; Vfhjpgj;jpa (,k;gPupay;) rl;l rigapy; epiwNtw;wg;gl;lJ.  
III. xU ,lj;ij thuz;l; ,d;wp Nrhjidapl fhty;Jiwf;F mjpfhuk; mspj;jJ. 
IV. gaq;futhjr; nray;fspy; <Lgl;ljhf re;Njfpf;fg;gLk; vtiuAk; ifJ nra;a ,e;j 

rl;lk; gpupl;b~; muRf;F mjpfhuk; mspj;JjJ 
V. ,J gj;jpupif Rje;jpuj;jpd; kPJ gy fl;Lg;ghLfis tpjpj;jJ 
a. I, II, IV   b. II, IV, V   c. I, III, IV, V 
d. I, II, III, IV, V  e. tpil njhpatpy;iy  

 
96. Which of the following pairs is/are correctly matched? 

I. Champaran Satyagraha – First Hunger strike 
II. Kheda Satyagraha – First Civil Disobedience 
III. Ahmadabad Mill Strike – First Non-Cooperation 
IV. Rowlatt Satyagraha – First Mass strike 
a. I, II   b. II only   c. III only 
d. IV only  e. Answer not known 
gpd;tUk; ,izfspy; vJ rhpahf nghUe;jpAs;sJ. 
I. rk;gud; rj;jpahfpufk; - Kjy; cz;zhtpujg; Nghuhl;lk;  
II. Nfjh rj;jpahfpufk; - Kjy; rl;lkWg;G ,af;fk; 
III. mfkjhghj; Miy NtiyepWj;jk; - Kjy; xj;Jioahik Nghuhl;lk; 
IV. nusy;l rj;jpahfpufk; - Kjy; kf;fs; jOtpa Nghuhl;lk; ; 
a. I, II   b. II only   c. III only 
d. IV only  e. tpil njhpatpy;iy 

 

97. Which of the following statements is/are correct about Bhagat Singh? 
I. He was born on 28 September, 1907. 
II. He was born in Lyallpur district. 
III. In 1921, he joined the National College, Lahore which was founded and managed by 

Lala Lajpat Rai. 
a. I, II only  b. I, III only   c. II, III only 
d. I, II and III  e. Answer not known 
gfj;rpq; njhlh;ghd gpd;tUk; $w;WfSs; rhpahdJ vJ? 
I. mth; 1907 nrg;lk;gh; 28 Mk; Njjp md;W gpwe;jhh; 
II. mth; yahy;G+h; khtl;lj;jpy; gpwe;jhh; 
III. yhyh yh[gjp uhahy; yh$hpy; epWtg;gl;L kw;Wk; epu;tfpf;fg;gl;L te;j Njrpa 

fy;Y}hpapy; gfj;rpq; 1921 ,y; Nrh;e;jhh;. ;  
a. I, II only  b. I, III only   c. II, III only 
d. I, II and III  e. tpil njhpatpy;iy 

 

98. The conspiracy case associated with Bhagat Singh. 
a. Kakori case, 1925    
b. Lahore conspiracy case - 1928 
c. Central Legislative Assembly bomb case 1929 
d. both b and c 
e. Answer not known 
gfj; rpq;Fld; njhlh;Gila rjp tof;F  
a. fNfhup tof;F 1925 
b. yh$h; rjp tof;F 1928 
c. kj;jpa rl;lg;Nguit ntbFz;L tof;F 1929 
d. b kw;Wk; c ,uz;Lk; 
e. tpil njhpatpy;iy 
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99. In which year a postal stamp was issued in India commemorating the birth anniversary of 
Bhagat Singh? 
a. 1951   b. 1962   c. 1968 
d. 1969   e. Answer not known 
,e;jpahtpy; ve;j Mz;L gfj; rpq;fpd; gpwe;j ehis epidT$Uk; tifapy; jghy;  jiy 
ntspaplg;gl;lJ? 
a. 1951   b. 1962   c. 1968 
d. 1969   e. tpil njhpatpy;iy 

 
100. Who among the following leader translated the book of Bhagat Singh, Why I am an Atheist 

into Tamil on the request of Periyar? 
a. Thiru.Vi.Ka   b. C.N. Annadurai  c. P. Jeevanantham   
d. Ramalingam Pillai  e. Answer not known 
gfj; rpq; vOjpa “ehd; Vd; ehjjpfd; MNdd;” vd;w E}iy nghpahupd; 
Ntz;LNfhSf;fpzq;f gpdtUk; jiyth;fSs; ahh; jkpopy; nkhopngah;j;jhh;? 
a. jpU.tp.f    b. C.N mz;zhJiu c. g. [Pthde;jk;    
d. ,uhkypq;fk; gps;is  e. tpil njhpatpy;iy  

 
101. The book, Bandi Jiwan was written by 

a. Bhagat Singh   b. Sachin Sanyal  c. Sharatchandra Chetterjee 
d. Bhagawaticharan Vohra  e. Answer not known 
“gz;b[ptd;” vDk; E}y;_______My; vOjg;gl;lJ. 
a. gfj; rpq;    b. rr;rpd; rd;ahy;  c. ruj;re;jpu rhl;lh;[p  
d. gftjpruz; Nthuh  e. tpil njhpatpy;iy 

 
102. Whose statement is that ‘humanism is a special virtue of a revolutionary’. 

a. Bhagat Singh   b. V. D. Savarkar  c. Bagawaticharan Vohra 
d. Suryasen     e. Answer not known 
‘kdpj Neak; vd;gJ xU Gul;rpahshpd; rpwg;G ew;gz;G’ vd;gJ ahUila $w;W? 
a. gfj;rpq;    b. V.D. rthh;f;fh;  c. gftjpruz; Nthuh 
d. #h;ah nrd;    e. tpil njhpatpy;iy 

 
103. The philosophy of the bomb written by 

a. Hemachandra Kanungo  b. Aurobind Ghosh  c. Bagawaticharan Vohra 
d. Bhagat Singh   e. Answer not known 
‘ntbFz;L jj;Jtk;’ vd;w E}iy vOjpath; 
a. N`kr;re;jpu fDq;Nfh  b. mutpe;j Nfh~;     c. gftjp ruz; Nthuh 
d. gfj;rpq;    e. tpil njhpatpy;iy 

 
104. Which of the following is/are consider as social change under Nehru? 

I. Anti-untouchability law. 
II. Implementation of reservations in educational institutions and government 

employment in favour of weaker sections. 
III. Hindu code bill. 
a. I, II only   b. I, III only   c. II, III only   
d. I, II and III   e. Answer not known 
gpd;tUtdtw;wpy;  NeUtpd; fPo; r%f khw;wkhf fUjg;gLtJ vJ? 
I. jPz;lhik vjph;g;Gr; rl;lk; 
II. eype;j gpuptpdUf;F Mjuhthf fy;tp kw;Wk; Ntiytha;gpy;> fy;tp epWtdq;fs; 

kw;Wk; murhq;fk; ,lxJf;fPLfis mky;gLj;jy; 
III. ,e;J kNrhjh 
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a. I> III kl;Lk;    b. I> III kl;Lk;  c. II> III kl;Lk; 
d. I> II kw;Wk; III   e. tpil njhpaty;iy 

 
105. Who was viceroy during the launch of the civil disobedience movement? 
 a. Lord Elgin    b. Lord Chelmsford   c. Lord Irwin 
 d. Lord Wavell   e. Answer not known 
 rl;lkWg;G ,af;fk; njhlq;fg;gl;lNghJ it];uhahf ,Ue;jth;? 
 a. vy;[pd; gpuG   b. nrk;];Nghh;L gpuG   c. ,h;tpd; gpuG 
 d. Ntty; gpuG   e. tpil njhpatpy;iy 
 
106. Which is referred as the “second lung of the nation” by Mahatma Gandhi?  
 a. Villages     b. Spinning wheel    c. Salt 
 d. cottage industries   e. Answer not known 
 kfhj;kh fhe;jpahy; “Njrj;jpd; ,uz;lhtJ EiuaPuy;” vd miof;fg;gLtJ vJ? 
 a. fpuhkq;fs;    b. ,uhl;il    c. cg;G 
 d. Fbirj; njhopy;fs;  e. tpil njhpatpy;iy 
 
107. Choose the correct statements about Haripura congress session, 1938. 

1. Subhash Chandra Bose was unanimously elected president of the session  
2. Bose setup the National planning committee under the chairmanship of Jawaharlal 

Nehru. 
3. It was the first INC session held in village 

 a. 1, 2 only    b. 1, 3 only   c. 2, 3 only 
 d. all of the above   e. Answer not known 
 1938`hpGuh fhq;fpu]; khehL gw;wpa rhpahd $w;Wfisf; fhz;f 

1. mkh;tpd; jiytuhf Rgh~; re;jpuNgh]; xU kdjhf Njh;e;njLf;fg;gl;lhh; 
2. Ngh]; [t`h;yhy; jiyikapy; Njrpa jpl;lf;FOit mikj;jhh; 
3. fpuhkj;jpy; eilngw;w Kjy; INC mkh;T MFk; 
a. 1> 2 kl;Lk;   b. 1> 3 kl;Lk;   c. 2> 3 kl;Lk; 
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
108. Which of the following provisions were proposed in the August offer? 

1. Dominion status 
2. Expansion of viceroy’s council 
3. Setting up of a constituent assembly during the war. 
4. No future constitution to be adopted without the consent of minorities. 
a. 1, 2 only    b. 3, 4 only   c. 1, 2, 4 only   
d. All the above   e. Answer not known 
Mf];l; nfhilapy; gpd;tUtdtw;wpy; Kd;nkhopag; gl;;;lJ? 
1. nlhkpdpad; me;j];J 
2. it];uha; fTd;rpy; tphpthf;fk; 
3. Nghhpd; NghJ murpayikg;G rigia mikj;jy; 
4. rpWghd;ikapdhpd; mDkjpapd;wp vjph;fhy murpayikg;G Vw;Wf;nfhs;sg;glhJ 
a. 1> 2 kl;Lk;   b. 3> 4 kl;Lk;   c. 1> 2> 4 kl;Lk; 
d. Nkw;fz;l midj;Jk;   e. tpil njhpatpy;iy 

 
109. The Cripps mission came to India on  

a. 12 February 1942   b. 12 March 1942   c. 22 March 1942 
d. 15 March 1942    e. Answer not known 
fphpg;]; J}Jf; FO ,e;jpahtpw;F te;jJ 
a. 12 gpg;uthp 1942   b. 12 khh;r; 1942   c. 22 khh;r; 1942 
d. 15 khh;r; 1942   e. tpil njhpatpy;iy 
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110. Albuquerque conquered Goa from 
a. Adil shah   b. Ahak khan   c. Khawa khan  
d. Yusuf Adil Khan  e. Answer not known 
my;Gf;fh;f; ahhplkpUe;J Nfhthit ntw;wp nfhz;lhh;. 
a. mby; ~h    b. Mfhfhd;    c. fhthfhd;    
d.a+Rg; mby; fhd;   e. tpil njhpatpy;iy 

 
111. Which of the following facts are true regarding the commercialization of agriculture under 

British rule? 
1. Money lending and exploitation of Poor peasants? 
2. Scarcity of food 
3. Increase the demand of cash crops 
4. Commercial agriculture went in bankruptcy 
a. 1 is true, 2, 3, 4 false  b. 2, 3, 4 are true 1 is false c. all are false statements  
d. All are correct    e. Answer not known 
Mq;fpy Ml;rpapy; tptrhak; tzpfkak; MdNghJ Vw;gl;l tpisTfis gw;wpa $w;Wfspy; 
vJ cz;ikahdJ?  
1. tl;bf;fhuh;fs; Fbapdth;fis Ruz;Ljy;  
2. czTj;jl;Lg;ghL  
3. gzg;gaph; Njit mjpfhpg;G  
4. gzg;gaph; tzpfk; jpthyhFjy;  
a. 1 kl;Lk; rhp 2, 3, 4 rhp my;y  b. 2, 3, 4 rhp 1 rhp my;y  c. midj;Jk; jtwhdJ  
d. midj;Jk; rhpahdJ  e. tpil njhpatpy;iy 

 
112. Match List I with List II: 

List I       List II 
A. Indian Councils Act of 1861   1. Lord Lansdowne 
B. Royal Titles Act of 1876    2. Lord Rippon 
C. Factory Act of 1881    3. Lord Canning 
D. Indian Councils Act of 1892   4. Lord Lytton 

A B C D 
a. 1 3 2 4 
b. 3 4 2 1 
c. 1 2 4 3  
d. 3 1 4 2  
e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;Jf. 
gl;bay; I         gl;bay; II 
A. ,e;jpaf; fTd;rpy; rl;lk; 1861     1. Nyd;];Nlhd; gpuG 
B. ,e;jpa RNjr muR ngah; rpwg;G rl;lk; 1876   2. Hpg;gd; gpuG 
C. njhopw;rhiyr; rl;lk; 1881     3. fhdpq; gpuG 
D. ,e;jpa fTd;rpy; rl;lk; 1892     4. ypl;ld; gpuG 

A B C D 
a. 1 3 2 4 
b. 3 4 2 1 
c. 1 2 4 3  
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 

113. Which was the first uprising against the alien rule in India? 
a. Sanyasi Andolan  b. Revolt of peasants  c. Revolt of Alikhan   
d. Revolt of Coorg  e. Answer not known 
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,e;jpahtpy; md;dpaiu vjph;j;J ele;j Kjy; fpsh;r;rp vJ? 
a. re;epahrp md;Nlhyd;   b.tptrhapfs; fpsh;r;rp    c. mypf;fhd; fpshr;rp    

d. $h;f; fpsh;r;rp  e. tpil njhpatpy;iy 
 
114. Match the following: 

News papers     Editors  
a. VandeMataram    1. M.M.Malviya 
b. Maratta     2. Firoz shah Metha 
c. Hindustan     3. Aurobindo Ghosh 
d. Bombay Chronicle   4. B.G. Tilak 
 A B  C  D 
a 3 4 1 2 
b 2 4 3 1 
c 4 3 1 2 
d 1 2 3 4 
e. Answer not known 
nghUj;Jf: 
 gj;jphpf;iffs;   gjpg;ghrphpah;fs;  
A. te;Nj khjuk;    1. M.M. khstpah 
B. kuhl;lh      2. ngNuh]; ~h Nkj;jh  
C. `pe;J];jhd;    3. mutpe;jNfh~;  
D. ghk;Ng f;uhdpf;fy;   4. B.G. jpyfh;  
 A B  C  D 
a 3 4 1 2 
b 2 4 3 1 
c 4 3 1 2 
d 1 2 3 4 
e. tpil njhpatpy;iy 

 
115. Who was described as a “Sultanised Englishman”? 

a. Sir Thomas Munro b. Sir William Jones  c. Sir Charles Wilkins   
d. Sir Charles Wood  e. Answer not known 
Ry;jhdpa Mq;fpNyah; vd fUjg;gLgth; ahh;?  
a. rh;. jhk]; kd;Nuh  b. rh; tpy;ypak; N[hd;];  c. rh; rhh;y]; tpy;fpd;];  
d. rh; rhh;y]; cl;  e. tpil njhpatpy;iy 
 

116. Find the odd man out 
6, 11, 21, 41, 81, 171, 321, 641 
a. 81  b. 171  c. 641  d. 6  e. Answer not known 
gpd;tUk; thpirapy; jdpg;gl;l vz;izj; Njh;T nra;f 
6, 11, 21, 41, 81, 171, 321, 641 
a. 81  b. 171  c. 641  d. 6   e. tpil njhpatpy;iy  

 
117. The sum of three numbers is 264 if the first number be twice the second and third number 

be one – third of the first, then the second number is  
a. 48  b. 72  c. 54  d. 64  e. Answer not known 
%d;W vz;fspd; $Ljy; 264 Kjy; vz; ,uz;lhtJ vz; Nghy; ,U klq;F> %d;whtJ 
vz; Kjy; vz;zpy; %d;wpy; xU gq;F vdpy; ,uz;lhtJ vz; ahJ? 
a. 48  b. 72  c. 54  d. 64   e. tpil njhpatpy;iy  
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118. Find the LCM of 2×3×5×7 and 3×5×7×11 
a. 2×3×5×7×11   b. 2×32×52×72×11   c. 3×5×7 
d. None of the above  e. Answer not known 
kP.ngh.k. fhz;f: 2×3×5×7, 3×5×7×11 
a. 2×x3x×5×x7×x11    b. 2×32x×52×x72×x11   c. 3×5×7 
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 

119. 8 
1

2
 metres is what percent of 11 

1

3
 metres? 

a. 60%  b. 72%  c. 75%  d. 68%  e. Answer not known 

8 

1

2  kPl;lh; vd;gJ 11 

1

3  kPl;lhpy; vj;jid rjtPjk;? 
a. 60%  b. 72% c. 75%  d. 68% e. tpil njhpatpy;iy 

 

120. 
1

4
of 

3

5
 of  

6

5
 of a number is 54.  Then the number is 

a. 280  b. 300  c. 320  d. 350  e. Answer not known 

xU vz;zpd; 
1

4
 gq;fpy; 

3

5
 gq;fpy; 

6

5
 gq;fhdJ 54 MFk;. vdpy; me;j vz;zhdJ       

a. 280  b. 300  c. 320  d. 350  e. tpil njhpatpy;iy 
 

121. Thanakkuvamai illaadhaan ThaaLsaerndhaark Kallaal 
Manakkavalai Maatral aridhu 
In this Kural the term Thaal means 
a. Thiruvadi  b. Irai Namam   c. Koil   
d. Guruvadi  e. Answer not known 
jdf;Ftik ,y;yhjhd; jhs;Nrh;e;jhh;f; fy;yhy; 
kdf;ftiy khw;wy; mhpJ 
,f;Fwspy; jhs; vd;gjd; nghUs; ahJ? 
a. jpUtb  b. ,iw ehkk;   c. Nfhtpy;  
d. FUtb  e. tpil njhpatpy;iy 

 

122. Which is sweeter for all living beings? 
a. Infants' lisping lips   
b. The rice in which the little hand of their children 
c. children's wisdom greater than their own 
d. None of the above 
e. Answer not known 
kd;Daph;f; nfy;yhk; ,dpJ vJ? 
a. kf;fs; koiyr;nrhy; 
b. kf;fs; rpWif mshtpa $o; 
c. jk;kpd; jk;kf;fs; mwpTilik 
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 

 

123. Which is the best among all virtues? 
a. spotless mind   b. charity for the poor   c. being virtuous    
d. possession of love e. Answer not known 
midj;J mwq;fspYk; rpwe;jJ vJ? 
a. cs;sj;jpy; Fw;wk; ,y;yhJ ,Uj;jy;  b. twpNahh;f;F <jy; 
c. mwj;NjhL epw;wy;     d. md;Gilik 
e. tpil njhpatpy;iy 
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124. 'Alive was he yesterday, but not today. 
It is a marvel in the world's way'. What is the meaning of this Thirukural?  
a. Everything is permanent in this world.  b. Nothing is permanent in this world. 
c. Birth and Death is natural.   d. The world is a proud place 
e. Answer not known 
"neLey; csndhUtd; ,d;wpy;iy vd;Dk;  
ngUik Ailj;J,t; TyF" vd;w Fws; $Wk; fUj;J ahJ?  
a. cyfk; epiyj;jJ     b. cyfk; epiyapy;yhjJ 
c. gpwg;Gk; ,wg;Gk; ,aw;if     d. cyfk; ngUikAilaJ  
e. tpil njhpatpy;iy 

 
125. Though every ______ part complete, the body's fitly framed; 

What good, when soul ________ of love devoid, lies halt and maimed 
a. outward, within   b. bone, love    c. love, friendship  
d. love what else   e. Answer not known 
_________ ngy;yhk; vtd;nra;Ak; ahf;if 
________ md;gp yth;f;F 
a. Gwj;JWg;> mfj;Jwg;G b. vz;G> md;G c. md;G> el;G   
d. md;Ngh> vz;Ngh  e. tpil njhpatpy;iy 

 
126. Which are the ornaments of man? 

a. Sweetness of speech, against vain speaking  
b. Humility and sweetness of speech 
c. Hospitality, sweetness of speech 
d. Hospitality, against vain speaking 
e. Answer not known 
xUtDf;F mzpfydhf miktJ vJ? 
a. ,d;nrhy;> gadpy; nrhy;yhik 
b. gzpTilik> ,d;nrhy; 
c. tpUe;Njhk;gy;> ,d;nrhy; 
d. tpUe;Njhk;gy;> gadpy; nrhy;yhik 
e. tpil njhpatpy;iy 

 

127. According to Valluvar pleasant words are those imbued with _________ 
a. Love, free from deceit, honest  
b. Love, honest 
c. Love, virtuous, free from deceit 
d. Love, virtuous, honest 
e. Answer not known 
ts;Sth; $w;wpd;gb ,d;nrhy; vd;gjd; nghUs; ahJ? 
a. md;G fye;jjhfTk;> tQ;ridaw;wjhfTk;> tha;ikAilajhfTk; mikAk; nrhy;. 
b. md;G fye;jjhfTk;> tha;ikAilajhfTk; mikAk; nrhy;. 
c. md;G fye;jjhfTk;> mwKilajhfTk;> tQ;ridaw;wjhfTk; mikAk; nrhy;. 
d. md;G fye;jjhfTk;> mwKilajhfTk;> tha;ikAilajhfTk; mikAk; nrhy;. 
e. tpil njhpatpy;iy 

 

128. According to Ilangovadigal which among the following is ‘the habit of ancestors glory’? 
a. Virtue   b. Love   c. Non possession 
d. Hospitality  e. Answer not known 
,sq;Nfhtbfs; ‘njhy;Nyhh; rpwg;gpd;’ vd vjid jkpohpd; njhd;ikahd gof;fkhf 
$Wfpwhh;? 
a. mwk;   b. md;Gilik  c. JwT     
d. tpUe;Njhk;gy;  e. tpil njhpatpy;iy 
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129. Find out the meaning of the following Kural 
Though food of immortality should crown the board, 
Feasting alone, the guests without unfed, is thing abhorred 
a. Lakshmi with joyous mind shall dwell in the house of that man who, with cheerful 

countenance, entertains the good as guests 
b. That stupidity which exercises no hospitality is poverty in the midst of wealth It is the 

property of the stupid 
c. The domestic life of the man that daily entertains the guests who come to him shall not 

be laid waste by poverty 
d. It is not fit that one should wish his guests to be outside (his house) even though he 

were eating the food of immortality   
tpUe;J Gwj;jjhj; jhd; cz;ly; rhth 
kUe;JvdpDk; Ntz;lw;ghw; wd;W – vd;w Fwspd; nghUs; ahJ? 
a. tpUe;jpduha; te;jtiu Kfkyh;r;rp nfhz;L Nghw;Wjy; 
b. nry;t epiyapy; cs;s tWik vd;gJ tpUe;Njhk;giy Nghw;whj mwpahikia 
c. jd;id Nehf;fp tUk; tpUe;jpdiu ehs; NjhWk; Nghw;Wfpd;wtDila tho;f;if> 

Jd;gj;jhy; tUe;jpf; nfl;Lg; Nghtjpy;iy 
d. tpUe;jpduhf te;jth; tPl;bd; Gwj;Nj ,Uf;fj; jhd; kl;Lk; cz;gJ rhthkUe;jhfpa 

mkpo;jNk MdhYk; mJ tpUk;gj;jf;fJ md;W 
e. tpil njhpatpy;iy 

 

130. According to Valluvar which is second virtue considering not killing the first? 
a. Not Offending the Great  b. The Absence of Fraud  c. Snags of Illiteracy  
d. Not being falsehood  e. Answer not known 
nfhy;yhikf;F mLj;j mwkhf ts;Sth; fUJtJ vJ? 
a. nghpahiu gpioahik  b. fs;shik    c. fy;yhik   
d. ngha;ahik   e. tpil njhpatpy;iy 

 

131. Who among the following went in the steps of Avvaiyar and wrote puthiya Aathichoodi 
a. Bharathi Dasan   b. Bharathiar    c. Kanna Dasan  
d. Erode Tamilanban  e. Answer not known 
xsitahiug; gpd;gw;wp Kjypy; Gjpa Mj;jpr;#b ghbatu;? 
a. ghujpjhrd;    b. ghujpahu;   c. fz;zjhrd;  
d. <NuhL jkpod;gd;   e. tpil njhpatpy;iy 
 

132. Which of the following are correct? 
i. There is information about drawing in Tholkaapiyam 

ii. ‘Ezhuthu’ also means drawing 
iii. Paripaadal mentions about the art gallery in the palace of the 

“Thalaiyaalangkaanaththu seruvendra” pandya king Nedunjchezhiyan  
a. i,ii,iii  b. i, ii  c . ii, iii d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. njhy;fhg;gpaj;jpy; Xtpak; gw;wpa nra;jp $wg;gl;Ls;sJ. 
ii. vOj;J vd;w nrhy;Yf;F Xtpak; vd;W nghUs;. 
iii. jiyahyq;fhdj;Jr; nrUntd;w ghz;ba neLQ;nropad; muz;kidapy; rpj;jpu kz;lgk; 

,Ue;jij gupghly; Fwpg;gpLfpd;wJ. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 

 

133. Which Aalwar’s hymns were called “Amalanaadipiraan hymns”. 
a. Thirumangaiyalwaar  b. Thiruppaanaalwaar  c. Periyaalwaar  
d. Thondaradippodiyalwaar e. Answer not known 
ve;j Mo;thUila ghly;fs; 'mkydhjpgpuhd; ghRuq;fs;' vdg;gl;ld?  
a. jpUkq;ifaho;thh;   b. jpUg;ghzho;thh;    c. nghpaho;thh;   
d. njhz;lubg; nghbaho;thh;  e. tpil njhpatpy;iy 

https://www.ytamizh.com/thirukural/chapter-29/
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134. Consider the following statements. 
I. Justice party won 63 seats in 1920 provincial election. 
II. P. Thiyagarayar become first chief minister of Madras Province. 
III. K.V. Reddy and Raja of Panagal were part of justice party’s first Cabinet. 
a. I alone is correct   b. I, II are correct  c. I, III are correct   
d. All are correct   e. Answer not known 
gpd;tUtdtw;iw ftdpf;fTk;. 
I. 1920-y; eilngw;w khfhz Njh;jypy; ePjpf;fl;rp 63 ,lq;fisg; ngw;wJ. 
II. nrd;id khfhzj;jpd; Kjy; Kjyikr;ruhf gp.jpahfuhah; gjtpNaw;whh;. 
III. Nf.tp. nul;b kw;Wk; gdfy; murh; MfpNahh; ePjpf;fl;rpapd; Kjy; mikr;ruitapy; 

mq;fk; tfpj;jdh;. 
a. I kl;Lk; rhp    b. I, II rhp   c. I, III rhp   
d. midj;Jk; rhp   e. tpil njhpatpy;iy 

 
135. Consider the following  

Assertion (A): Direct elections under Dyarchy were held in 1920 in provinces. 
Reason (R): Government of India Act, 1919 was enacted in 1919. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false 
d. (A) is false, (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): ,ul;ilahl;rp Kiwg;gb> Neubj; Njh;jy; 1920y; khfhzq;fspy; eilngw;wJ. 
fhuzk; (R): 1919Mk; Mz;L ,e;jpa muR rl;lk; 1919> eilKiwg;gLj;jg;gl;lJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
136. Paraiyan newspaper was started in _____ by ____. 

a. 1891, M.C. Raja  b. 1893, Rettamalai Srinivasan  c. 1897, Ayothee Thasar 
d. 1894, Ayothee Thasar e. Answer not known 
giwad; ehspjo; ahuhy; vg;NghJ Jtq;fg;gl;lJ? 
a. 1891> MC uh[h  b. 1893> ,ul;ilkiy rPdpthrd;  c. 1897> mNahj;jpjhrh; 
d. 1894> mNahj;jpjhrh; e. tpil njhpatpy;iy 

 
137. Who was the Madras Governor who gave the tea party to the participants of INC third 

session.1887 held in Madras? 
a. T.S. White    b. Kannimaro   c.  Wellington 
 d.  Rippon   e. Answer not known 
1887-Mk; Mz;L fhq;fpu]pd; nrd;idf; $l;lj;njhlupy; gq;Nfw;w gpujpepjpfSf;F NjePh; 
tpUe;J mspj;j nrd;id fth;dh; ahh;?  
a. T.S. xapl;   b. fd;dpkhNuh   c. ntypq;ld; 
d. upg;gd;    e. tpil njhpatpy;iy 

 
138. The Tamilnadu terrorist practised in ‘India House’? 

I. V. V. S.Iyer  II. T.S.S Rajan   III. M.P.T Acharya 
IV. V.O.C   V. Subramaniya Siva 
a.  I,II and III only  b. II,III and IV only  c.  I,II and IV only 
d.  All the above  e. Answer not known 
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“,e;jpah tpLjp” mikg;gpy; gapw;rp ngw;w jkpo;ehl;ilr; rhh;e;j gaq;futhjpfs; ahh;?  
I. t.Nt.R. Iah;   II. T.S.S. uh[d;   III. M.P.T. Mr;rhh;ah  
IV. t.crp.    V. Rg;ukzpa rpth  
a. I, II kw;Wk; III kl;Lk;  b. II, III kw;Wk; IV kl;Lk; c. I, II kw;Wk; IV kl;Lk;  
d. Nkw;fz;l midtUk;  e. tpil njhpatpy;iy 

 
139. Find out the correct statement regarding V.V.S. Iyer 

I. He gave shooting practice to Vanjinathan.  
II. He translated the Savarkar’s “1857 First war of Independence” 
 a. I only   b. II only    c. Both I and II 
d. neither I nor II  e. Answer not known 
t.Nt.R. Iah; gw;wpa gpd;tUk; $w;Wfspy; rhpahdJ?  
I. ,th; thQ;rpehjDf;F Jg;ghf;fp gapw;rp mspj;jhh;. 
II. rhth;f;fhpd; 1857 KjyhtJ ,e;jpa Rje;jpug; Nghuhl;lk; E}iy nkhopngah;j;Js;shh;.  
a. I kl;Lk;   b. II kl;Lk;   c. ,uz;Lk;    
d. ,uz;Lkpy;iy   e. tpil njhpatpy;iy 

 
140. What did Bharathiyar refer in the lines “The great children of Bharatha Madha”? 

a. V.O.C and Subramanya Siva b. Tilak and Lala Lajpat Roy  
c.  V.O.C and Senbagaraman d.  V.O.C’s two ships  e. Answer not known 
“ghujkhjh ngw;nwLj;j ,uz;L jtg;Gjy;th;fs;” vd;W ghujpahh; $WtJ?  
a. t.c.rp kw;Wk; Rg;ukzpa rpth  b. jpyfh; kw;Wk; yhyh y[gjp uha; 
c. t.c.rp. kw;Wk; nrz;gfuhkd;  d. t.c.rp. apd; fg;gy;fis 
e. tpil njhpatpy;iy 

 
141. Who led the strong base in Rajapalayam for the khadi movement as a part of Non-

cooperation movement? 
a.  Sathyamoorthy  b.  Kumarasamy Raja c. I.P Arangasamy Raja 
d.  Kamarajar   e. Answer not known 
xj;Jioahik ,af;fj;jpd; Xh; mq;fkhf fjh; ,af;fj;Jf;F ,uh[ghisaj;jpy; cWjpahd 
mbj;jskpl;lth; __________ 
a. rj;jpa%h;j;jp  b. Fkhurhkp uh[h  c. I.gp. muq;frhkp uh[h 
d. fhkuh[h;   e. tpil njhpatpy;iy 

 
142. Who resigned the membership of her legislative council after Gandhi was arrested for civil 

disobedience movement? 
a. Durgabhai Deshmuk  b. Rukmani Lakshmipathy   c. Muthulakshmi  
d.  Padmasini Ammal e. Answer not known 
rl;lkWg;G ,af;fj;jhy; fhe;jp ifjhdijaLj;J jd; rl;lkd;w cWg;gpdh; gjtpia 
uh[pdhkh nra;jth; ____________.  
a. Jh;fhgha; Nj~;Kf;  b. Uf;kzp yl;Rkpgjp    c. Kj;Jyl;Rkp nul;b  
d. gj;khrpdp mk;khs;  e. tpil njhpatpy;iy 

 
143. Choose the wrong statement regarding Nagammaiyar.  

I. In Tamilnadu she took initiative in liquor shop picketing during Non-  cooperation 
movement.  

II. She supported Periyar in Vaikom Sathyagraha and participated in the            protest.  
a.  I only    b.  II only    c.  Both I and II 
d.  neither I nor II  e. Answer not known 
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ehfk;ikahh; gw;wpa $w;Wfspy; jtwhdJ vJ?  
I. jkpofj;jpy; xj;Jioahik ,af;fj;jpy; fs;Sf;fil kwpaiyj; jPtpukhf Kd;ndLj;jth;.  

II. itf;fk; rj;jpahfpufj;jpy; nghpahUf;F Mjuthf ,Ue;J Nghuhbdhh;.  
a. I kl;Lk;    b. II kl;Lk;    c. ,uz;Lk;  
d. ,uz;Lkpy;iy   e. tpil njhpatpy;iy 

 
144. Choose the right statement about Palayakarar System 

I. The Palayakara system in Tamilnadu was introduced by Kakathiya kingdom.  
II. Based on this Madurai was divided into 72 palayams.  
a. I only    b. II only    c. Both I and II 
d. neither I nor II   e. Answer not known 
ghisaf;fhuh; Kiw gw;wp rhpahd $w;Wfisj; Njh;T nra;f 
I. jkpo;ehl;by; ghisaf;fhuh; Kiw fhfj;jpa tk;rj;jhy; mwpKfg;gLj;jg;gl;lJ  
II.  ,jd;gb kJiu 72 ghisaq;fshf gphpf;fg;gl;lJ.  
a. I kl;Lk;   b. II kl;Lk;    c. ,uz;Lk; 
d. ,uz;Lkpy;iy   e. tpil njhpatpy;iy 

 
145. Which British captain defeated Pulithevan and captured Nerkattumseval from him on 

1767? 
a. Robert Clive   b. Captain Campbell  c. General Heron 
d. Major Bannerman  e. Answer not known 
new;fl;Lk; Nrtiy G+ypj;NjtdplkpUe;J 1767 kPl;L G+ypj;Njtid Njhw;fbj;j Mq;fpy 
jsgjp ____________.  
a. ,uhgh;l; fpist;   b. Nfg;ld; Nfk;g;ngy;   c. n[duy; n`uhd; 
d. Nk[h; Ngdh;Nkd;   e. tpil njhpatpy;iy 

 
 
146. The Pudukottai ruler who initially helped Kattabomman later betrayed him was  

a. Ettayappan  b. Vijaya Ragunatha Thondaiman c. Gopala Nayak  
d. Muthu Vaduga Thevar e. Answer not known 
fl;lnghk;kDf;F Kjypy; milf;fyk; je;J gpd;dh; Mq;fpNyahplk; fhl;b nfhLj;j 
GJf;Nfhl;il kd;dh;?  
a. vl;ilag;gd;   b. tp[a uFehj njhz;ilkhd;   c. Nfhghy ehaf;  
d. Kj;J tLf Njth;  e. tpil njhpatpy;iy 
 

147. The backward class leader who participated in the First Self Respect Conference was 
  a. Dr. Ambedkar   b. Ayothi Das Pandithar   c. Rettaimalai Srinivasan   
 d. Sami Sahajananda e. Answer not known 

Kjy; Rakhpahij khehl;by; fye;J nfhz;l jho;j;jg;gl;l tFg;Gj; jiyth; ahh;?  
a. lhf;lh; mk;Ngj;fh;  b. mNahj;jpjh]; gz;bjh;   c. ,ul;ilkiy rPdpthrd;  
d. rhkp rf[hde;jh  e. tpil njhpatpy;iy 

 
148. Where was Self-Respect movement merged with justice party.  
 a. Trichy  b. Salem c. Erode d. Tanjore  e. Answer not known 

Rakhpahij ,af;fj;Jld; ePjpf;fl;rp ,izf;fg;gl;l epfo;thdJ vq;F eilngw;wJ?  
a. jpUr;rp b. Nryk;  c. <NuhL  d. jQ;rhT+h;   e. tpil njhpatpy;iy 

 
149. What were the aims of Samarasa Suddha Sanmarga Sangam established by Ramalinga 

Adigal in Vadaloor?  
I. The religious unity and communal harmony in the society.  
II. Condemned rituals and caste belief.  
III. Promoted universal love and brotherhood.  
IV. Believed hunger and poverty are the greatest ill of society.   
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a. I, II and III only    b. II, III and IV only    c. I, III and IV only  
d. All the above   e. Answer not known 
tlY}hpy; ,uhkypq;f mbfshy; njhlq;fg;gl;l rkur Rj;j rd;khh;f;f rq;fj;jpd; Nehf;fk; 
vd;d?  
I. r%fj;jpy; kj xw;Wik kw;Wk; tFg;Gthj ey;ypzf;fk; 
II. rlq;FfisAk;> rhjp ek;gpf;ifiaAk; fz;ldk; nra;jy; 
III. cyfshtpa md;igAk;> rNfhjuj;Jtj;ijAk; Cf;Ftpj;jy; 
IV. grpiaAk;> tWikiaAk; r%fj;jpd; kpfg;nghpa Nehahf fUjpaJ 
a. I> II kw;Wk; III kl;Lk;  b. II> III kw;Wk; IV kl;Lk; c. I> III kw;Wk; IV kl;Lk;  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
150. When did Rettaimalai Srinivasan establish Paraiyar Mahajana Sabha? 

a. 1890  b. 1891  c. 1892  d. 1893 e. Answer not known 
,ul;ilkiy rPdpthrd; giwah; kfh[d rigia Jtf;fpa Mz;L vJ? 
a. 1890  b. 1891  c. 1892  d. 1893 e. tpil njhpatpy;iy 

 
151. Who is the chairperson for implementation of BBBP scheme? 

a. Minister of Women and Child Development 
b. Chief Minister of State 
c. District Collector 
d. District Social Welfare Officer 
e. Answer not known 
BBBP jpl;lj;ij nray;gLj;Jgth; 
a. ngz;fs; kw;Wk; Foe;ijfs; Nkk;ghl;L mikr;rh;. b. khepy Kjyikr;rh; 
c. khtl;l Ml;rpjiyth;.     d. khtl;l r%f ey mYtyh; 
e. tpil njhpatpy;iy 

 
152. Village Convergence and Facilitation Service is under ___ 

a. National Commission for Women 
b. Tamil Nadu State Commission for Women  
c. National Mission on Empowerment of Women 
d. One Stop Centre 
e. Answer not known 
fpuhk xUq;fpizg;G kw;Wk; trjp nra;jy; Nrit (VCFS) vjd; fPo; nray;gLfpwJ? 
a. Njrpa kfsph; Mizak; 
b. jkpo;ehL khepy kfsph; Mizak; 
c. kfsph; Nkk;ghl;bw;fhd Njrpa FOkk; 
d. xd; ];lhg; nrd;lh; 
e. tpil njhpatpy;iy 

 
153. Integrated Complex of Special Homes in Tamil Nadu is for ____ 

a. Senior Citizens and Destitute Children b. Destitute Women 
c. Widows and Destitute Women   d. both a and c 
e. Answer not known 
rpwg;G ,y;yq;fis cs;slf;fpa xUq;fpize;j tshfq;fs; jkpo;ehl;by; ahUf;fhf 
elj;jg;gLfpwJ? 
a. KjpNahh;fs; kw;Wk; Mjutw;w Foe;ijfs; b. Mjutw;w ngz;fs; 
c. ifk;ngz;fs; kw;Wk; Mjutw;w ngz;fs; d. (a) kw;Wk; (c) 
e. tpil njhpatpy;iy 
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154. SHe – Box portal is related to ____ 
a. Sexual harassment of women at workplace 
b. Sexual harassment of children 
c. Both a and b 
d. Neither a nor b 
e. Answer not known 
SHe – Box (~P – ghf;];) ,izajsk; vjDld; njhlh;GilaJ? 
a. gzpGhpAk; ,lq;fspy; ngz;fSf;nfjpuhf epfOk; ghypay; td;Kiw 
b. Foe;ijfSf;nfjpuhd ghypay; td;Kiw 
c. (a) kw;Wk; (b) ,uz;Lk; 
d. (a) kw;Wk; (b) ,uz;Lky;y 
e. tpil njhpatpy;iy 
 

155. Kalpana Chawla Award was awarded to ______ by Government of Tamil Nadu in 2021. 
a. Shanmuga Priya   b. Senthamil Selvi  c. Mutthammal  
d. Ananthavalli   e. Answer not known 
fy;gdh rht;yh tpUJ 2021-y; jkpof murhy; ______ f;F toq;fg;gl;lJ. 
a. rz;Kfg;gphpah   b. nre;jkpo; nry;tp  c. Kj;jk;khs;   
d. Mde;jty;yp   e. tpil njhpatpy;iy 
 

156. Simplify 

m n n l l m
m n l

n l m

x x x

x x x

+ + +

     
  =     

     
 

a. 1  b. -1  c. m n lx + +  d. 
1

m n lx + +
 e. Answer not known 

RUf;Ff 

m n n l l m
m n l

n l m

x x x

x x x

+ + +

     
  =     

     
 

a. 1  b. -1  c. m n lx + +  d. 
1

m n lx + +
 e. tpil njhpatpy;iy  

 
157. Arithmetic mean of the values 9, 6, 7, 8, 5 and x is 8, then the value of x is 

a. 48  b. 13  c. 15  d. 12  e. Answer not known 
9> 6> 7> 8> 5 kw;Wk; x Mfpatw;wpd; $l;L ruhrhp 8 vdpy; x d; kjpg;G 
a. 48  b. 13  c. 15  d. 12  e. tpil njhpatpy;iy 

 
158. If 12 + 22 + 32 + ….. +102 = 385 then 22 + 42 + 62 + …..202 is 

a. 770  b. 1150 c. 1540  d. 3852  e. Answer not known 
12 + 22 + 32 + …. +102 = 385 vdpy; 22 + 42 + 62 +…. 202 -d; kjpg;G 
a. 770  b. 1150 c. 1540  d. 3852  e. tpil njhpatpy;iy 

 

159. A sum of ₹ 48,000 was lent out at simple interest and at the end of 2 years and 3 months the 

total amount was ₹ 55,560. Find the rate of interest per year. 
a. 8 %  b. 7%  c. 6%  d. 5%  e. Answer not known 
fldhf toq;fg;gl;l mry; RS.48>000 f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; gpd; jdptl;b 
%yk; ngwg;gl;l nkhj;jj; njhif Rs. 55>560 Mf ,Ue;jJ vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 8 %  b. 7%  c. 6%  d. 5%  e. tpil njhpatpy;iy 

 

160. A shopkeeper sells goods worth ₹ 4800 to a consumer. If GST is charged at 5% extra, find 
CGST paid by the consumer. 

a. ₹ 120 b. ₹ 240 c. ₹ 210 d. ₹ 420 e. Answer not known 
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xU filf;fhuu; &gha; 4800 kjpg;Gs;s nghUl;fis Efu;NthUf;F tpw;fpwhu;. $Ljyhf ruf;F 
kw;Wk; Nrit thpahf 5 rjtPjk; tpjpf;fg;gl;lhy;> Efu;Nthu; nrYj;jpa kj;jpa ruf;F kw;Wk; 
Nrit thpiaf; fzf;fpLf. 
a. &.120 b. &.240 c. &.210 d. &.420 e. tpil njhpatpy;iy 
 

161. Which of the following are pillars of Gross National Happiness Index (GNHI)? 
I. Sustainable & Equitable Socio-economic development. 
II. Psychological well-being & Health. 
III. Environmental Conservation and Good Governance. 
IV. Preservation and Promotion of culture. 
a. I, II, III   b. I, III, IV    c. I, II, IV  
d. I, II, III, IV   e. Answer not known 
gpd;tUtdtw;wpy; nkhj;j Njrpa kfpo;r;rp FwpaPl;bd; J}z;fs; vit? 
I. epiyahd kw;Wk; rkkhd r%f nghUshjhu tsu;r;rp. 
II. cstpay; ey;tho;T kw;Wk; MNuhf;fpak;. 
III. Rw;Wr;#oy; ghJfhg;G kw;Wk; ey;y epu;thfk; 
IV. fyhr;rhuj;ijg; ghJfhj;jy; kw;Wk; Nkk;gLj;Jjy;. 
a. I, II, III   b. I, III, IV    c. I, II, IV 
d. I, II, III, IV   e. tpil njhpatpy;iy 
 

162. Which of the following are Women Helpline: 
(i) 1098  (ii) 1091  (iii) 181  (iv) 1913 
a. iii only b. i & ii c. ii & iii  d. ii only e. Answer not known 
gpd;tUtdtw;wpy; vJ ngz;fs; cjtp vz;fs;: 
(i) 1098  (ii) 1091  (iii) 181  (iv) 1913 
a. iii kl;Lk; b. i & ii c. ii & iii d. ii kl;Lk;  e. tpil njhpatpy;iy 
 

163. National Food Security Act (2013) covers ____% of urban households and ____ % of rural 
households. 
a. 50% and 75%  b. 40% and 60%  c. 50% and 50%   
d. 45% and 55%  e. Answer not known 
Njrpa czTg; ghJfhg;Gr; rl;lk; (2013) _____% efu;g;Gw FLk;gq;fisAk;> _____% fpuhkg;Gw 
FLk;gq;fisAk; cs;slf;fpaJ. 
a. 50% kw;Wk; 75%  b. 40% kw;Wk; 60%  c. 50% kw;Wk; 50%   
d. 45% kw;Wk; 55%  e. tpil njhpatpy;iy 
 

164. The district with more Gender inequality in Tamil Nadu is _____. 
a. Nilgiris  b. Ariyalur    c. Chennai   
d. Sivagangai  e. Answer not known 
jkpo;ehl;bd; ve;j khtl;lk; mjpfgl;r ghypd rkkpd;ikiaf; nfhz;Ls;sJ? 
a. ePyfphp  b. mhpaY}h;    c. nrd;id   
d. rptfq;if  e. tpil njhpatpy;iy 
 

165. Multi-Dimensional Poverty Index is prepared by _____. 
a. UNDP   b. Oxford Poverty and Human Development Initiative 
c. Both (a) and (b)  d. Neither (a) nor (b)      
e. Answer not known 
gy;ghpkhz tWikf; FwpaPL ahuhy; jahhpf;fg;gLfpwJ? 
a. UNDP   b. Mf;];Nghh;L tWik kw;Wk; kdpjts Nkk;ghl;L Kaw;rp 
c. (a) kw;Wk; (b) ,uz;Lk; d. (a) kw;Wk; (b) ,uz;Lky;y 
e. tpil njhpatpy;iy 
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166. According to latest report of Multi-Dimensional Poverty Index. 
1. Tamil Nadu has Fourth lowest Poverty rate with 4.89%. 
2. Bihar – More people in poverty. 
3. Pudukottai in Tamil Nadu is the poorest district. 
a. 1, 2 are correct  b. 2 alone is correct   c. 1, 3 are correct 
d. All are correct  e. Answer not known 
gy;ghpkhz tWik FwpaPl;bd; rkPg mwpf;ifapd;gb> 
1. 4.89% tWik tpfpjj;Jld; jkpo;ehL ehd;fhtJ ,lj;jpy; cs;sJ. 
2. mjpf tWikapYs;s kf;fs; - gPfhh;. 
3. jkpo;ehl;by; mjpfgl;r tWikAs;s khtl;lk;> GJf;Nfhl;il 
a. 1>2 rhp   b. 2 kl;Lk; rhp   c. 1>3 rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

167. Find the scheme with following objectives 
1. Road connecting unconnected habitations, irrespective of population  
2. Upgrading mini-bus plying roads 
3. Link roads connecting market places, education, health services 
a. THAI scheme  b. Chief Minister Road Development Programme 
c. TNRRIS scheme  d. PMGSY 
e. Answer not known 
fPo;f;fz;ltw;iwf; Fwpf;Nfhshff; nfhz;l jpl;lk; vJ? 
1. kf;fs; njhifiag; nghUl;gLj;jhky;> ,izf;fg;glhj fpuhkq;fis rhiy trjpfs; 
%yk; ,izj;jy;. 
2. rpw;We;J XLk; rhiyfis Nkk;gLj;Jjy; 
3. re;ij ,lq;fs;> fy;tp> Rfhjhu Nritfis rhiy %yk; ,izj;jy; 
a. THAI jpl;lk;  b. Kjyikr;rh; rhiy Nkk;ghL jpl;lk; 
c. TNRRIS jpl;lk;  d. PMGSY 
e. tpil njhpatpy;iy 
 

168. How many acres land were distributed by British Government to depressed class people in 
1892? 
a. 2 lakh    b. 10 lakh   c. 12 lakh   
d. 20 lakh    e. Answer not known 
1892 Mk; Mz;L> vj;jid Vf;fh; epyk; Mq;fpNya murhy; xLf;fg;gl;NlhUf;F 
gfph;e;jspf;fg;gl;lJ? 
a. 2 ,yl;rk;    b. 10 ,yl;rk;   c. 12 ,yl;rk; 
d. 20 ,yl;rk;   e. tpil njhpatpy;iy   
 

169. Reservation in professional courses was squashed by Madras High Court in ___ case in 
1950. 
a. Chenbagam Durairajan  b. Berubari Union  c. Shankari Prasath   
d. Kesavanantha Bharathi  e. Answer not known 
1950 Mk; Mz;L ve;j tof;fpd; mbg;gilapy; njhopy;rhh; gbg;Gfspy; toq;fg;gl;l 
,lxJf;fPl;il nkl;uh]; cah;ePjpkd;wk; uj;J nra;jJ? 
a. nrz;gfk; Jiuuh[d; tof;F b. ngUghhp xd;wpa tof;F  c. rq;fhp gpurhj; tof;F 
d. Nfrthde;j ghujp tof;F e. tpil njhpatpy;iy 
 

170. Creamy layer concept was introduced by ____ in Tamil Nadu reservation. 
a. C.N. Annadurai   b. M. Karunanidhi  c. M.G. Ramachandran 
d. J. Jayalalitha   e. Answer not known 
jkpo;ehl;bd; ,lxJf;fPl;by; fphPkpNyah; (giraLf;F) Kiw ahuhy; nfhz;Ltug;gl;lJ? 
a. C.N. mz;zhJiu  b. M. fUzhepjp  c. M.G. ,uhkr;re;jpud; 
d. J. n[ayypjh   e. tpil njhpatpy;iy 
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171. Who gave 1% reservation for ST in Tamil Nadu? 
a. C.N. Annadurai   b. M. Karunanidhi  c. M.G. Ramachandran 
d. J. Jayalalitha   e. Answer not known 
jkpo;ehl;by; gl;bay; goq;FbapdUf;F (ST) 1% ,lxJf;fPL toq;fpaJ ahh;? 
a. C.N. mz;zhJiu  b. M. fUzhepjp  c. M.G. ,uhkr;re;jpud; 
d. J. n[ayypjh   e. tpil njhpatpy;iy 
 

172. What is the criteria to become a member of Women Industrial Co-operative Society? 
a. Below Poverty line   b. Widow   c. Destitute Women  
d. None of these    e. Answer not known 
kfsph; njhopw;$l;LwT rq;fj;jpd; cWg;gpduhtjw;fhd mbg;gilj; jFjp vd;d? 
a. tWikf; Nfhl;bw;F fPo; ,Uj;jy; b. ifk;ngz;   c. Mjutw;w ngz;  
d. Nkw;fz;l vJTkpy;iy   e. tpil njhpatpy;iy 
 

173. STEP (Support to Training and Employment Program for women) was launched in _____ 
a. 1984-85   b. 1985-86    c. 1986-87   
d. 1987-88   e. Answer not known 
ngz;fSf;fhd gapw;rp kw;Wk; Ntiytha;g;G MjuTj; jpl;lk; (STEP) njhlq;fg;gl;l Mz;L. 
a. 1984-85   b. 1985-86    c. 1986-87   
d. 1987-88   e. tpil njhpatpy;iy 
 

174. Choose incorrect pair 
a. SUMAN – To end all preventable maternal and newborn death 
b. LaQshya – Labour room Infrastructure 
c. PMSMA – Quality Antenatal care 
d. None of these 
e. e. Answer not known 
jtwhd ,iziaf; fz;lwpf. 
a. Rkd; - vspjpy; jLf;ff;$ba kfg;NgW kw;Wk; gr;rpsk; Foe;ij ,wg;Gfis Fiwg;gJ. 
b. LaQshya - gpurt ikaq;fspd; cl;fl;likg;G 
c. PMSMA - NgWfhy Kd;rpfpr;ir Nrit 
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 
 

175. Which month is celebrated as POSHAN Maah? 
a. August   b. September   c. October   
d. November   e. Answer not known 
Njrpa Cl;lr;rj;J khjk; (Ngh~hd; khjk;) vg;NghJ nfhz;lhlg;gLfpwJ? 
a. Mf];l;   b. nrg;lk;gh;    c. mf;Nlhgh;  
d. etk;gh;   e. tpil njhpatpy;iy 
 

176. The objectives of CM Girl Child Protection Scheme is ____ 
1. Preventing Female Infanticide 
2. Promoting Formal Education of Girls. 
3. Increasing Child Sex Ratio 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. Answer not known 
Kjyikr;rh; ngz; Foe;ij ghJfhg;G jpl;lj;jpd; Nehf;fq;fs;> 
1. ngz; rpRnfhiyia jLj;jy;. 
2. ngz; Foe;ijfs; Kiwrhh; fy;tpiag; ngw Cf;Ftpj;jy; 
3. Foe;ij ghypd tpfpjj;ij mjpfhpj;jy; 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 
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177. CARA primarily deals with ____ children  
a. Orphan    b. abandoned   c. Surrendered 
d. All of the above   e. Answer not known 
CARA ve;j Foe;ijfspd; jj;njLg;ig Kf;fpakhf ifahs;fpwJ? 
a. Mjutw;w Foe;ijfs;  b. iftplg;gl;l Foe;ijfs; 
c. xg;gilf;fg;gl;l Foe;ijfs; d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 
 

178. Consider the following statements  
1. Tamil Nadu state Adoption Resource Agency was established in 2016 
2. SARA has been set up under Commissionerate of Social Welfare. 
a. 1 alone is correct   b. 2 alone is correct  c. Both are correct  
d. Both are wrong   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
1. jkpo;ehL khepy jj;Jts Kfik (SARA) 2016 Mk; Mz;L njhlq;fg;gl;lJ. 
2. SARA, r%f Mizaj;jpd;fPo; cUthf;fg;gl;Ls;sJ. 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

179. Which scheme provides community Infrastructure facilities to both Urban and Rural 
Areas? 
a. THAI Thittam 
b. Anna Marumalarchi Thittam 
c. Namaku Name Thittam 
d. both a and b 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j jpl;lk; fpuhkk; kw;Wk; efh;g;Gw gFjpfSf;F mbg;gilf; fl;;likg;G 
trjpfis nra;J jUfpwJ? 
a. jha; jpl;lk; 
b. mz;zh kWkyh;r;rp jpl;lk; 
c. ekf;F ehNk jpl;lk; 
d. (a) kw;Wk; (b) 
e. tpil njhpatpy;iy 
 

180. “We shall see God in the smile of the poor” is the Motto of ____ 
a. Tamil Nadu Housing Board  
b. Tamil Nadu Urban Habitat Development Board 
c. TAHDCO 
d. TANCEM 
e. Answer not known 
'Viofspd; rphpg;gpy; ,iwtidf; fhz;Nghk;" gpd;tUk; ve;j mikg;gpd; Kof;fk;?  
a. jkpo;ehL tPl;Ltrjp thhpak;  
b. jkpo;ehL efh;Gw tho;tpl Nkk;ghl;L thhpak;  
c. TAHDCO 
d. TANCEM 
e. tpil njhpatpy;iy  
 

181. TAHDCO involves in ____ 
1. Skill Training 
2. Implementing Economic Development Schemes for SC, ST 
3. Construction Activities 
a. 1, 2  b. 2, 3  c. 1, 3  d. 1, 2, 3 e. Answer not known 
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TAHDCO gpd;tUtdtw;wpy; vij cs;slf;fpaJ?  
1. jpwd; gapw;rp  
2. SC, ST gphptpdUf;F nghUshjhu Nkk;ghl;L jpl;lq;fis eilKiwg;gLj;jy;  
3. fl;Lkhd eltbf;iffs;  
a. 1, 2  b. 2, 3  c. 1, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 
 

182. Consider the following regarding Uzhavar Sandhai:  
I. It was launched in 1999 to ensure fair price and avoid middlemen.  
II. The first Uzhavar Sandhai was inaugurated in Madurai.  
Which of the statements given above is/are incorrect?  
a. I only    b. II only    c. Both I and II  
d. neither I nor II  e. Answer not known 
coth; re;ij njhlh;ghd gpd;tUk; $w;Wfisf; fhz;f. 
I. epahakhd tpiyia cWjp nra;aTk;> ,ilj;jufh;fisj; jtph;f;fTk; 1999,y; 

Jtf;fg;gl;lJ. 
II. Kjy; coth; re;ij kJiuapy; jpwe;J itf;fg;gl;lJ. 
Nkw;$wpatw;Ws; jtwhdJ vJ/vit? 
a. I kl;Lk;   b. II kl;Lk;   c. ,uz;Lk; 
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy   

 

183. Which of the following irrigation schemes were introduced during the period of 
Kamarajar?  
I. Lower Bhavani   II. Manimuthar  III. Arani  IV.  Amaravathi  
a. I, II and III only   b. II, III and IV only    c. I, II and IV only    
d. All the above  e. Answer not known 
fhkuh[h; fhyj;jpy; gpd;tUk; ve;j ePh;g;ghrd jpl;lq;fs; mwpKfg;gLj;jg;gl;ld? 
I. fPo; gthdp jpl;lk;  II. kzpKj;jhW III. Muzp IV. mkuhtjp 
a. I, II kw;Wk; III kl;Lk; b. II, III kw;Wk; IV kl;Lk;  c. I, II kw;Wk; IV kl;Lk;  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 

184. Which of the followings are achievements of J. Jayalalitha. 
I. Cradle baby scheme  II. State Finance Commission 
III. State Planning Commission.  IV. Compulsory Rain water harvesting  
a. I, II and III   b. I, II and IV  c. I and IV 
d. All the above  e. Answer not known 
gpd;tUtdtw;wpy; J. n[ayypjh mth;fspd; rhjidfs;? 
I. njhl;by; Foe;ij jpl;lk;  II. khepy epjp Mizak; 
III. khepy jpl;lf; FO  IV. fl;lha kioePh; Nrkpg;G jpl;lk; 
a. I, II kw;Wk; III   b. I, II kw;Wk; IV  c. I kw;Wk; IV    
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 

185. Which of the followings is the achievement of T.Prakasam? 
a. He made Hindi as optional subject in schools 
b. Introduced Liquor prohibition 
c. He converted the elementary schools into Basic schools 
d. All the above 
e. Answer not known 
gpd;tUtdtw;Ws; T. gpufhrk; Ml;rpapd; rhjid vJ? 
a. ,th; ,e;jp nkhopia tpUg;g ghlkhf;fpdhh;. 
b. kJtpyf;Ff; nfhs;ifia mwpKfg;gLj;jpdhh;. 
c. Jtf;fg; gs;spfis mbg;gil gs;spfshf khw;wpdhh;. 
d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
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186. Which of the following is not an achievement of Omandur Ramasami? 
a. Temple entry act,1947 
b. Devadasi abolition act, 1947 
c. Thirukural made compulsary in schools 
d. Nationalisation of Bharathidasan’s works 
e. Answer not known 
gpd;tUtdtw;wpy; Xkhe;J}h; uhkrhkp Ml;rpapd; rhjid my;yhjJ vJ? 
a. Mya EioTr; rl;lk;> 1947 
b. Njtjhrp Kiw xopg;Gr; rl;lk;> 1947 
c. gs;spfspy; jpUf;Fws; fl;lhakhf;fg;gl;lJ 
d. ghujpjhrd; gilg;Gfs; ehl;Lilikahf;fy; 
e. tpil njhpatpy;iy 

 
187. Find out the correct statement regarding the Kamarajar period.  

I. He introduced School Improvement Conference in every district 
II. This helped to improve the funding for the school.  
III. Sundaravadivelu who is the directorate of school education is instrumental in the 
success of this conference.  
a. I and II only   b. II and III only   c. I and III only  
d. All are correct  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdJ vJ? (fhkuh[h; Ml;rp) 
I. mth; khtl;lk; NjhWk; gs;sp Nkk;ghl;L khehl;il elj;jpdhu;. 
II. ,J gs;spf;fhd epjpAjtpia Nkk;gl nra;jJ. 
III. nghJ fy;tp ,af;Fduhf ,Ue;j Re;ju tbNtY mth;fs; ,k;khehl;bd; ntw;wpf;F 

tpj;jpl;lhu;. 
a. I kw;Wk; II kl;Lk;  b. II kw;Wk; III kl;Lk;  c. I kw;Wk; III kl;Lk; 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

188. Which of the following is not an achievement of M.G.R. 
a. Manu Needhi Thittam    b. 10+2+3 education system 
c. Telugu – Ganga Project    d. 5th World Tamil Conference 
e. Answer not known 
gpd;tUtdtw;wpy; vk;.[p.Mh; Ml;rpapd; rhjid my;yhjJ vJ? 
a. kD ePjp jpl;lk;    b. 10 + 2 + 3 fy;tpKiw 
c. njYq;F – fq;fh jpl;lk;  d. 5 Mk; cyf jkpo; khehL 
e. tpil njhpatpy;iy 
 

189. What are the objectives of Tamilnadu Health Systems Reforms programme 
I. Improve the quality of care 
II. Strengthening communicable disease management 
III. Reducing the mortality and injuries due to traffic accidents 
a. I and II only   b. II and III only   c. I and III only  
d. All are correct  e. Answer not known 
jkpo;ehL Rfhjhu mikg;G rPh;jpUj;j jpl;lj;jpd; Nehf;fq;fs; ahit? 
I. Nritfspd; juj;ij Nkk;gLj;Jjy;. 
II. njhw;W Neha;fl;Lg;ghl;il tYg;gLj;Jjy;. 
III. tpgj;Jfspdhy; Vw;gLk; fhaq;fs; kw;Wk; kuzj;ij Fiwf;f eltbf;iffs;. 
a. I kw;Wk; II kl;Lk;  b. II kw;Wk; III kl;Lk;  c. I kw;Wk; III kl;Lk;   
d. midj;Jk; rhp  e. tpil njhpatpy;iy   
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190. Which of the followings is not the objectives of Tamilnadu Social and family welfare board.  
a. Upliftment of people living below poverty line through voluntary institutions 
b. To strive for equality between men and women 
c. Promoting Non-governmental social welfare organisations 
d. To render technical and financial assistance to voluntary institutions 
e. Answer not known 
gpd;tUtdtw;Wk; jkpo;ehL r%f ey thhpaj;jpd; Nehf;fk; my;yhjJ vJ? 
a. jd;dhh;t epWtdq;fs; %yk; tWikf;Nfhl;bw;F fPo;thOk; kf;fspd; Nkk;ghL. 
b. Mz;-ngz; rkj;Jtj;jpw;F ghLgLjy;. 
c. muR rhuh r%f ey mikg;Gfis Cf;Ftpj;jy;. 
d. jd;dhh;t epWtdq;fSf;F njhopy;El;g kw;Wk; epjpAjtpfis toq;Fjy;. 
e. tpil njhpatpy;iy 
 

191. Where did M.G.R started the nutritious meal scheme in 1982____ 
a. Ettayapuram    b. Ayiram Vilakku   c. Pappakurichi   
d. Triplicane    e. Answer not known 
M.G.R. mth;fs; rj;JzTj; jpl;lj;ij 1982 Mk; Mz;L vq;F Jtf;fpdhh;. 
a. vl;laGuk;    b. Mapuk; tpsf;F  c. ghg;ghFwpr;rp 
d. jpUty;ypf;Nfzp   e. tpil njhpatpy;iy 
 

192. The provisions for 10% reservation for economically weaker section in General category is 
given in which constitutional amendment? 
a. 101st   b. 102nd    c. 103rd   
d. 105th   e. Answer not known 
nghJg;gphptpdhpy; nghUshjhuj;jpy; gpd;jq;fpa gphptpdUf;F 10% ,l xJf;fPL toq;Fk;  
murpayikg;G jpUj;jr; rl;lk;. 
a. 101tJ jpUj;jk;  b. 102tJ jpUj;jk;   c. 103tJ jpUj;jk; 
d. 105tJ jpUj;jk;  e. tpil njhpatpy;iy 

 
193. Choose the correct statement from the following.  

I. Royal Commission was headed by Alexander Gordon Cardew formed in 1913. 
II. Apart from Madras Presidency, Rangoon Thravi Association and others also 

submitted their application with demands for caste based reservation.  
a. I only   b. II only  c. Both I and II   
d. neither I and II  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahd $w;iw Njh;e;njLf;fTk; 
I. mnyf;]hz;lh; Nfhh;ld; fhh;bA+ jiyikapy; uhay; Mizak; mikf;fg;gl;lJ. 
II. ,jpy; nrd;id khfhzj;Jld;> uq;$d; jpuhtp rq;fk; Nghd;w mikg;GfSk; tFg;Gthhp 

gpujpepjpj;Jtj;ij tpz;zg;gpj;jJ. 
a. I kl;Lk;    b. II kl;Lk;     c. ,uz;Lk; 
d. ,uz;Lkpy;iy  d. tpil njhpatpy;iy  
 

194. When was India’s first Backward class commission headed by Kaka Kalelkar formed? 
a. 29 January 1953  b. 29 January 1954  c. 26 January 1953  
d. 26 January 1954  e. Answer not known 
,e;jpahtpd; Kjy; gpw;gLj;jg;gl;Nlhh; Mizak; fhfh fNyy;fh; jiyikapy; vg;NghJ  
mikf;fg;gl;lJ? 
a.  29 [dthp 1953  b. 29 [dthp 1954  c. 26 [dthp 1953 
d. 26 [dthp 1954  e. tpil njhpatpy;iy 
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195. Find out the wrong statement regarding Tamil Nadu Geographical system (TNGIS). 
a. To create generic model of GIS. 
b. Avoid inaccuracy in GIS data collected by various departments. 
c. To use as a tool for managing decision making. 
d. To monitor agricultural land holdings.  
e. Answer not known 
fPo;f;fhZk; jkpo;ehL Gtpapay; mikg;gpd; (TNGIS) Nehf;fq;fspy; jtwhdJ vJ 
a. GIS f;fhf nghJ khjphpika cUthf;Fjy; 
b. gy;NtW Jiwfspy; ,Ue;J Nrfhpf;fg;gl;l GIS jfty;fspy; Vw;gLk; jtWfisj; 

jtph;j;jy; 
c. KbntLg;gij eph;tfpg;gjw;fhd fUtpahf gad;gLj;Jjy; 
d. Ntshz; epy cilikfisf; fz;fhzpf;f 
e. tpil njhpatpy;iy 
 

196. Sum of digits of a two digit number is 9. Its digits are reversed when 27 is added to that 
number then the number is? 
a. 69 b. 36  c. 47  d. 63  e. Answer not known 
Xh; <hpyf;f vz;zpd; ,yf;fq;fspd; $Ljy; 9. me;j vz;Zld; 27-I $l;Lk; NghJ 
,yf;fq;fs; ,lk; khWfpd;wd vdpy; me;j vz; vJ? 
a. 69 b. 36  c. 47  d. 63  e. tpil njhpatpy;iy 

 
197. The scale of a map is given as 1 : 30000000. Two cities are 4 cm apart on the map. Find the 

actual distance between them 
a. 120 km   b. 520 km   c. 1,200 km    
d. 12,000 km  e. Answer not known  
xU tiuglj;jpd; msT 1:30000000 vd toq;fg;gLfpwJ. tiuglj;jpy; ,U efuq;fSf;F 
,ilNa cs;s njhiyT 4 nr.kP vdpy; cz;ikapy; mt;tpU efuq;fSf;F ,ilNa cs;s 
njhiyit fhz;f 
a. 120 fpkP  b. 520 fpkP   c. 1>200 fpkP   

d. 12,000 fpkP  e. tpil njhpatpy;iy 
 
198. What is the condition that three non-zero numbers a, b, c are in Arithmetic progression 

a. 2b= a + c  b. 2a = b + c   c. 2c = a + b   

d. 
2

b c
a

+
=   e. Answer not known 

%d;W g+r;rpakw;w vz;fs; a, b, c vd;gd $l;Lj;njlh; thpirapy; ,Ue;jhy; epge;jid 
a. 2b= a + c  b. 2a = b + c   c. 2c = a + b   

d. 
2

b c
a

+
=   e. tpil njhpatpy;iy 

 
199. Find the HCF of the following: 

6(2x2 - 3x-2) 
8(4x2 + 4x + l) 
12(2x2 + 7x + 3) 
a. (2x + l)(x- 2)(2x + l)(x + 3)  b. 2(2x +1) 
c. 4(2x + l)(x-2)    d. 6(2x + l)(x + 3) 
e. Answer not known 
kP.ngh.t. fhz;f.  
6(2x2 - 3x-2) 
8(4x2 + 4x + l) 
12(2x2 + 7x + 3) 
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a. (2x + l)(x- 2)(2x + l)(x + 3)  b. 2(2x +1) 
c. 4(2x + l)(x-2)    d. 6(2x + l)(x + 3) 
e. tpil njhpatpy;iy 

 
200. The population of a town is increasing at the rate of 6% p.a. It was 238765 in the year 2018. 

Find the population in the year 2016  
a. 205210  b.224440    c. 212500   
d. 268276  e. Answer not known 
xU efuj;jpd; kf;fs;njhif Mz;Lf;F 6% mjpfupf;fpwJ. 2018 Mk; Mz;L kf;fs;njhif 
238765 Mf ,Ue;jJ vdpy;> 2016 Mk; Mz;L kf;fs;njhifiaf; fhz;f. 
a. 205210  b.224440    c. 212500   
d. 268276  e. tpil njhpatpy;iy 
 
 
 
 

 


